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NTA UGC NET 2021 NOVEMBER-JANUARY POPULATION STUDIES PAPER 2 SHIFT 1 QUESTION PAPER

Topic:- PopStudies_SHAAN_NOV21A
1) Which one of the following hypotheses proposed that migration is a natural outgrowth of disruptions and dislocations that

occur in the process of capitalist development?

forgatferRaa 4 A1 fopa1 Yrameuon A genfia 3 fop gasiel 821 @Rl 3R Rrrenae o1 Fannfae uftvma diar 3 sl Yellure faort & gign

gfea ald 3 :
[Question ID = 10519][Question Description = S2_qSNz_PG_PPS_Q01]

1. Neoclassical economic approach/sra aenf3im snféfa efReaior [Option ID = 12073]
2. New household economics of migration/uf¥qgster &t o1 &3¢ sreferazems [Option ID = 12074]

3. Dual labour market theory/ggream 9@ asir Bigia [Option ID = 12075]
4. World Systems theory/faea yumeft Brgia [Option ID = 12076]

Correct Answer :-
e Neoclassical economic approach/sra aenf¥iew suféfes efteasior [Option ID = 12073]

2) If triangle is healthy people, square is elderly and circle is men then which alphabet represents the

healthy, elderly men?

e Py ORI RN @1 Jidd g, I aa1 A S arll Bl s & AR gd T & Iidd ¢ ol B -1
&R WX, 3T AT F AT BT AP & 7

[Question ID = 10520][Question Description = S2_qSNz_PG_PPS_Q02]
1. A/A [Option ID = 12077]
2. E/E [Option ID = 12078]
3. B/B [Option ID = 12079]
4. D/D [Option ID = 12080]

Correct Answer :-
e A/A [Option ID = 12077]

3) Which among the following is the 'Boserupian’ response to higher population growth than resource?
forgorferRae 3 3 et - AT IA1ErST B geloll A IcaR STorRiTATr g 6 "dRISRRET yferazn & ?

[Question ID = 10521][Question Description = S2_qSNz_PG_PPS_Q03]
1. Industrial innovation/ i3 srarare [Option ID = 12081]
2. Agricultural intensification/@ftf didiasur [Option ID = 12082]

3. Diffusion of innovation/smararz @1 gz [Option ID = 12083]
4. Improvement of transport network/uf¥aget otcaas 3 ez [Option ID = 12084]

Correct Answer :-
e [ndustrial innovation/sfienf3re osrarar [Option ID = 12081]

4) Which one of the following equations is correct for estimating 4, from ,m,?

.M, T g, B AHA B & ol ARG Tieu d ¥ aH - T el 6 2

[Question ID = 10522][Question Description = S2_qSNz_PG_PPS_Q04]
g
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1. ;o= X __ o\

WWH?[{/p}‘équMnmx Lo 1 +(1 T nax)nmx 'repp
[Option ID = 12085]

is n{nmx.) n(nm}()

T 1+(n—qa,)m, M= 15 (n—,a,),m,

2. i

[Option ID = 12086]

3 (0= n{ﬂmx.:' Jol= n(nmx)
1 _(_1 +nax)nmx A _(1 +nax)nmx
[Option ID = 12087]
4 q.= n(sm,) i n(,m,)
=g =08 0

[Option ID = 12088]

Correct Answer :-
_bm) )
1 +(_1 _nax)nmx nx 1 +(1 _nax)nmx

® nlx

[Option ID = 12085]

5) The |, column of a life table refers to one of the following:

Sfiaor aiRvfl @1 |, s foweiferRaa 3 e Adfeea 3 ?

[Question ID = 10523][Question Description = S2_qSNz_PG_PPS_Q05]
1. Number of person years lived/xidla fbu s cafep auf &t 2Rzn

[Option ID = 12089]
2. Probability of death/ay bt fsmrerar

[Option ID = 12090]
3. Number of persons living at exact age 'x'/dl® 3y X' w Sfifad cafepeii &t sz

[Option ID = 12091]
4. Total life time after 'X'/31g 'X' @ @16 @t Slidel oIt

[Option ID = 12092]

Correct Answer :-
o Number of person years lived/Idia fipe 10 wifep autf & en

[Option ID = 12089]

6) Which of the following are identified as target indicators under the Poshan Abhiyaan?
A. Prevent and reduce stunting in children (0-6 years)

B. Reduce low birth weight

C. Reduce prevalence of anaemia among women and men

D. Reduce underweight in children

Choose the correct answer from the options given below:

forgarferi¥aa 3 21 fped dIvvr sifSrirer @ siasfa Rifa fepen srar 3 ?

A. szt (0 - 6 ad) 3 sgfaert &I A 3k 337 acen

B. forgot Stedt asiel @I TcToll

C. afgensii siiz gyl 3 IwbIeudl @ YAR Pl acrell

D. szl 3 srcudsiol @I ol

ofla fRu s1e frepedl 3 A & AR BT T B ¢

[Question ID = 10524][Question Description = S2_qSNz_PG_PPS_Q06]

A, B, Cand D/A, B, C siiz D [Option ID = 12093]

A, B and D only/daer A. B 3iiz D [Option ID = 12094]
A and D only/a@aet A siiz D [Option ID = 12095]

A, C and D only/@>aet A, C siiz D [Option ID = 12096]

AN W N =

Correct Answer :-



e A, B,CandD/A, B, Caiz D [Option ID = 12093]
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7) Which o following is the carrier of dengue disease? Your Personal Exams Guide
forgarferRaa 3 A ot AT Sof Hlorst b1 arsd 3 ¢

[Question ID = 10525][Question Description = S2_qSNz_PG_PPS_Q07]
Aedes mosquito/eslst aicss [Option ID = 12097]

Housefly/aiaxdt [Option ID = 12098]

Culex mosquito/a=fera1 s [Option ID = 12099]

Anopheles mosquito/weiledst sreez [Option ID = 12100]

A W N =

Correct Answer :-
e Aedes mosquito/usist a2 [Option ID = 12097]

8) Which one of the following indicators could be developed from the Census of India 2011 to establish the fact that
females are the head of the household in the absence of the male?

aef 2011 I HRA DI SeIeIvIe A forolfciiRad 3 A Dlel -AT ADAD 3 A DI FAMUA Dol D feru f[plRia o s Awar 3 o ysul dbi
arouferfer 3 aifgend az &b glaar Bl 3 ?

[Question ID = 10526][Question Description = S2_qSNz_PG_PPS_Q08]
1. Literacy rate/msrar g2 [Option ID = 12101]

2. Marriage rate/fqars g2 [Option ID = 12102]

3. Marital status/daife Refer [Option ID = 12103]

4. Work participation rate/orf Jssufiar 2 [Option ID = 12104]

Correct Answer :-
e |iteracy rate/mgra g2 [Option ID = 12101]

9) What is the male literacy percentage of India, according to the Census 2011?
aef 2011 <bl SePIVIG @ 3IMGRIR MRA Pl gBY ATSRATI G2 TT 3 ?

[Question ID = 10527][Question Description = S2_qSNz_PG_PPS_Q09]
1. 80.9%

[Option ID = 12105]
2. 79.8%

[Option ID = 12106]
3. 81.9%

[Option ID = 12107]
4. 78.8%

[Option ID = 12108]

Correct Answer :-
e 80.9%

[Option ID = 12105]

10) Which one of the following falls under perinatal mortality?

forgarferRaa 3 A ol Aer:sIa Fogar @ 3iasida smar 3 ?

[Question ID = 10528][Question Description = S2_qSNz_PG_PPS_Q10]
1. Late foetal deaths/3w= @ifera spfir sy [Option ID = 12109]
2. Early neonatal deaths/Sea @ ofig @rg sy [Option ID = 12110]
3. Late foetal and early neonatal deaths/3= @ifers sl siiz Steat & offg arg a7y [Option ID = 12111]
4. Early foetal and late neonatal deaths/qd wiferd spufler 3l Sioat @ 1S 2WrI a1 #eg [Option ID = 12112]

Correct Answer :-
e |ate foetal deaths/3m @ifer spuftr s [Option ID = 12109]

11) Which of the following inputs are needed for doing a population projection using the Cohort Component method?
A. Age and sex distribution of population at the base year

B. Age-specific mortality rates of the base year

C. Age-specific out-migration rates of the base year

D. Age-specific fertility rates of the base year

Choose the correct answer from the options given below:



WARRARIDIEYHB! Y Triior @b Storeizeen gérav @t 3g) ot fifdree 3f 2 Rvareht armaoerepar aselt 37 prepp
. 31eR ad 3 3Ry wd fefor frerur
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A

B. smemR ad @ fifeifdee 3Ry ey 52

C. R ad & faferfdee Ry afddart o2

D. semz ad @ fafsifdte 31y Ystetorar 2

ofi R3u s1u frpeul 3 A A8 IR BT M6 HIfvTU :

[Question ID = 10529][Question Description = S2_qSNz_PG_PPS_Q11]

A, B, Cand D/A, B, C iz D [Option ID = 12113]

A, B and C only/aact A, B 3liz C [Option ID = 12114]
A, B and D only/daer A, B 3iiz D [Option ID = 12115]
A, C and D only/adct A, C iz D [Option ID = 12116]

A W N =

Correct Answer :-
e A, B, CandD/A, B, CaizD [Option ID = 12113]

12) Which of the following are dimensions of geographic data?
A. Temporal

B. Thematic

C. Spatial

D. Positional

Choose the correct answer from the options given below:

forgot 31 3 Plel - AT sioNferd SITT BT TP IRIET 37

A. @ifers

B. forerpeIa

C. FeerRe

D. Refers

ofla feu s1e fpeul 3 A 18l IR @I T BRI ©

[Question ID = 10530][Question Description = S2_qSNz_PG_PPS_Q12]

A, B, C and D/A, B, C siz D [Option ID = 12117]

B, C and D only/@aet B, C sz D [Option ID = 12118]
A, C and D only/aaet A, C siiz D [Option ID = 12119]
A, B and C only/dsaet A, B iz C [Option ID = 12120]

A W N =

Correct Answer :-
e A, B, CandD/A, B, C 3z D [Option ID = 12117]

13) Which one of the following states has recorded a decline in age at marriage during 2001 and 2011?

forgotferi3ae fepa1 asa @ adf 2001 siiz 2011 @ Siret fdars & 3Ry 3 @dl ool 6i 3 ?

[Question ID = 10531][Question Description = S2_qSNz_PG_PPS_Q13]
Tamil Nadu/afdrererg [Option ID = 12121]

Andhra Pradesh/stigf ggor [Option ID = 12122]

Kerala/as3ct [Option ID = 12123]

Maharashtra/ssrreg [Option ID = 12124]

AN W N =

Correct Answer :-
e Tamil Nadu/afdrererg [Option ID = 12121]

14) The mean length of a generation is associated with
A. Fertility

B. Mortality

C. Migration

D. Stable population

E. Population open for migration

Choose the correct answer from the options given below:



www.preppn. e prepp
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B. gcg 52

C. garat

D. Rer Soriz

E. gael yaur SierHzin

ofla f3u s1e el 3 A A IR DI TwRIeT B ¢

[Question ID = 10532][Question Description = S2_qSNz_PG_PPS_Q14]

A and B only/d@act A sfiz B [Option ID = 12125]
B and C only/@qe B siiz C [Option ID = 12126]
A and D only/daet A siiz D [Option ID = 12127]
D and E only/a@qe D siz E [Option ID = 12128]

AN W N =

Correct Answer :-
® A and B only/d@act A siiz B [Option ID = 12125]

15) Which one of the following terms correctly describes the migration ratio?

forgatferRaa 3 A1 dlol AT U Ygslol 3MoUId I &l aviel o 3 ?

[Question ID = 10533][Question Description = S2_qSNz_PG_PPS_Q15]

1. The ratio of net migration to natural increase of population/fract ysiotor 3iiz SerRReM &I Famsfae giy ot sigurd [Option ID = 12129]
2. The ratio of out-migration to total mid-year population/afdgster siie 2] aderer SRz @1 siguid [Option ID = 12130]

3. The ratio of in-migration to total mid-year population/sieygstor 3iiz 2Wis] auser SRz @I sigurd [Option ID = 12131]

4. The ratio of total migration to total mid-year population/m@m] ygsier 3iiz dget aufare soRen o1 sigurd [Option ID = 12132]

Correct Answer :-
® The ratio of net migration to natural increase of population/fordact ysiotal 3l SloRizen &t Famsnfdd gfg @i sigurd [Option ID = 12129]

16) Given below are two statements
Statement I: Natural endowment is essential for the growth of any settlement
Statement II: Ganga plain is a densely populated region in India

In light of the above statements, choose the correct answer from the options given below

ofi<I <t werer e s1w 3 ¢

@erel - | : Rt semmaa &t giy @ e grapfere 2iucr siferart 3

@erol - || ; 5ol 1 JgTol MR 3 Hofl SToIIII dIcll i) &

SWRITP PAall D el 3, ofil 3T s1e Rl 3 A Al AR @I wrI61 HIfSe ©
[Question ID = 10534][Question Description = S2_qSNz_PG_PPS_Q16]

Both Statement | and Statement Il are true/emr | siz |l g6l 2= & [Option ID = 12133]

Both Statement | and Statement Il are false/@sermr | 3iiz || Sloif sRir & [Option ID = 12134]
Statement | is true but Statement Il is false/@emr | 31 @ , fpoq Pt |l sricr & [Option ID = 12135]
Statement | is false but Statement Il is true/wmeret | 3RiI 8 , fbog @eret || A= 8 [Option ID = 12136]

AN W N =

Correct Answer :-
e Both Statement | and Statement Il are true/oesr | 3R |l g6l A=r & [Option ID = 12133]

17) Arrange the following countries in the descending order with respect to volume of international migrants outflow
according to International Migration Report (2019)?

A. India

B. Mexico

C. China

D. Russia

E. Syrian Arab Republic

Choose the correct answer from the options given below

IARASERT ygstal feulé (2019) @ 31oIR forgsifciiaa Soll @l sfoaRIcscRl Yaril afdsierer bl aArqr @ Ao 3 R B A =af¥eqa difsie :

A. sra



B. dfdrrol
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D. v

E. fifyard sra swrdqg

ofid fRu s1u frepedl 3 A A8 IR BT Rl HIfTU :

[Question ID = 10535][Question Description = S2_qSNz_PG_PPS_Q17]

D, B [Option ID = 12137]
, D, E [Option ID = 12138]
E, D [Option ID = 12139]
B, D [Option ID = 12140]

A wWwN =
m® >
0> w
>00m

Correct Answer :-
e C, A E, D, B[Option ID = 12137]

18) Match List | with List Il

List | List Il

IA. Change in population growth away from the largest cities in a national urban system I. Urban growth

B. Extension of social and behavioural characteristics of urban living across society as a wholelll. Urbanisation

C. An increase in the population of town and cities lll. Counter-urbanisation
D. An increase in the population of the total population that lives in an urban area IV. Urbanism

Choose the correct answer from the options given below:

It -l @1 3 -l A Fafera Hifsre :

et -| et 11

A, IsdRr 918t guicht 3 A a3 91631 A TP SlolAeaT 3 I, oSt 9t
B. 3iyvuf u A 968 smarSt & Arfore R aasrR Adeh

feroreremait o1 farerz Il {

C. ol 3iiz ors3t &t smardh @ gfy . fer -

) 918 3IBUT
D. 9z8 I 3 sot archlt g.g Srell bt e & sgqura A afy IV, odluet

oifr fou s1e faweul 3 A A8 a2 gfore ¢

[Question ID = 10536][Question Description = S2_qSNz_PG_PPS_Q18]
A-1,B-1IV,C-1l,D-Ill [Option ID = 12141]
A-1I,B-IV,C-Il,D-I[Option ID = 12142]

1.
2.
3. A-I,B-1ll,C-1l,D-IV[Option ID = 12143]
4. A-1ll,B-1V,C-1,D-Il [Option ID = 12144]

Correct Answer :-

® A-I,B-1IV,C-1l,D-Ill [Option ID = 12141]

19) According to the 2020 SRS Bulletin of India, which one of the following states recorded the highest Crude Death Rate
(per 1000 population)?

A 3 2020 v 3R TA goifesd D IUGRIR forFoiferRaa 3 3 fopa 1= 3 sronfera Iy g2 (yfer 1000 Storizen) aiferes gsf &t o 3 ?

[Question ID = 10537][Question Description = S2_qSNz_PG_PPS_Q19]
Bihar /R [Option ID = 12145]

Chhattisgarh/sdizer6 [Option ID = 12146]

Madhya Pradesh/atezigger [Option ID = 12147]

Uttar Pradesh/3a= ggor [Option ID = 12148]

AN W N =

Correct Answer :-
e Bihar/fdsr [Option ID = 12145]

20) Which of the following are preconditions for substantial fertility decline as suggested by Ansley Coale?
A. Consistent and irreversible decline in mortality

B. Acceptance of calculated choice as a valid element in marital fertility

C. Perception of advantages from reduced fertility

D. Knowledge and mastery of effective techniques of control

E. Ideational diffusion of small family norms from urban to rural areas

Choose the correct answer from the options given below:



ma%—ﬁwﬁmﬂﬁmﬁgﬂsﬁﬁﬁﬁﬁiﬁﬁﬁmawﬁﬁﬁim%: 'repp

A. Freeee 3t For aiiz argeadoiier Brerae Your Personal Exams Guide
B. daifdw® ystetetan 3 Al - ersh aRIol Bl d¢ dca @ »U 3 FAIPR Dol

C. @ 3l 31 YSloleldl A Slol darcl ciisil ®I YeAgioT

D. foriqur &I guirdl adeiiaml @I 6 3R Jo1 U= AsRA

E. 812 ufrar @ s @I 96 §qi A il Sl A YrrRIcHD YRIRuT

offla fRu s1e fresedl 3 A & IR BT T B ©

[Question ID = 10538][Question Description = S2_qSNz_PG_PPS_Q20]

A, B, C and D only/@aet A, B, C siiz D [Option ID = 12149]
C, D and E only/a>aet C, D siiz E [Option ID = 12150]

A, B, C, Dand E/A, B, C, D iz E [Option ID = 12151]

B, C and D only/a@aet B, C sfiz D [Option ID = 12152]

A W N =

Correct Answer :-
e A, B, Cand D only/aac A, B, C 3iiz D [Option ID = 12149]

21) Which one of the following countries recorded the highest deficit of ecological reserves (in hectares per capita)?

forsatferRaa 31 21 ot reg 1 ui:R-arferdia =i giqi 3 aifere srR1 (gfa suftp 3aczr ) ot fdown sk 87
[Question ID = 10539][Question Description = S2_qSNz_PG_PPS_Q21]

1. United States of America/3R I 3@iR@r [Option ID = 12153]
2. China/dfet [Option ID = 12154]
3. Qatar/@az [Option ID = 12155]
4. India/sma [Option ID = 12156]

Correct Answer :-
e United States of America/3Rp Isa sm@ifsar [Option ID = 12153]

22) What are the basic principles of communication processes?
A. Who said

B. What

C. Whom through

D. What effects

Choose the correct answer from the options given below:

Aarure yfpznsil & e Rigia o= 3 ?

A. 3101 @t ?

B. a=mr war?

C. fpard Fireat A ?

D. =i gema st ?.

ofla fRu s1e fepeul 3 A & A= BT T B ¢

[Question ID = 10540][Question Description = S2_qSNz_PG_PPS_Q22]

1. A, B and C only/@act A, B 3liz C [Option ID = 12157]
2. A, B, Cand D/A, B, C siiz D [Option ID = 12158]

3. A, Cand D only/aaa A, C siiz D [Option ID = 12159]
4. B, C and D only/dact B, C sfiz D [Option ID = 12160]

Correct Answer :-
e A, Band C only/daear A, B 3iiz C [Option ID = 12157]

23) Which of the following statements represent the direct impact of declining mortality on population age structure?
A. In a high mortality society, a drop in mortality increases the proportion of children and young people

B. In a high mortality society, an increase in dependency ratio may occur

C. In a high mortality society, a drop in mortality decreases fertility

D. In a low mortality society, a drop in mortality will age the population

Choose the correct answer from the options given below:
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A. 3= gog AATSI d JoJ 52 3 PBRIace A a<l ud olisidroll @I elUId §6 SIIdl &
B. 3ca Iy g2 ardt wraimst 3 fonfean sepura & afy &t st 3

C. STa geg <2 aral AASl A Pog <2 A Briac A Ysioleidl aA 81 Siidl

D. forot gcg <= arcl AT A Jog 52 A BRIac A SoRiz Sicdt g 8l SIiedl 8
ofla fRu s1e fepeul 3 A & IR BT T B ©

[Question ID = 10541][Question Description = S2_qSNz_PG_PPS_Q23]

1. A, B and D only/@dct A, B 3liz D [Option ID = 12161]
2. A, B, Cand D/A, B, C siiz D [Option ID = 12162]

3. A, Cand D only/aaa A, C siiz D [Option ID = 12163]
4. B, C and D only/dact B, C sfiz D [Option ID = 12164]

Correct Answer :-
e A, Band D only/dac A, B 3iiz D [Option ID = 12161]

24) Arrange the following climate change conferences in chronological order with respect to the years in which they were
held:

A. Copenhagen Convention

B. Kyoto Summit

C. UN Framework Convention on Climate Change(UNFCCC)
D. UN Climate Conference at Bali

E. The Cancun Convention

Choose the correct answer from the options given below

forgot Stcrary el AFcIol DI BT ad 3 RN 5§ AW MR U RIS G 3 RISy ©
A. DIUcI3sIel AFNcTol

B. @=iIel a13deror

C. Sierary ufsacdel el IRITD ASE, BIATD AFAIIoIA

D. srclt 3 J=yep 2Usg Sierary AFdiciol

E. @lorazet A#dictol

ofila fou oo frepedl 3 A & Fa= BT T B ¢

[Question ID = 10542][Question Description = S2_qSNz_PG_PPS_Q24]

1. A, B, C, D, E [Option ID = 12165]
2. E, A D, C, B [Option ID = 12166]
3. B, D, C, A, E [Option ID = 12167]
4. C, B, D, A, E [Option ID = 12168]

Correct Answer :-
e A B, C, D, E [Option ID = 12165]

25) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Population momentum is the tendency of population expansion despite attainment of replacement level of
fertility
Reason R: Population momentum leads to the old age structure

In light of the above statements, choose the most appropriate answer from the options given below

ofiY <Y werot U o180 3 ;. uop sifdrperat (A) @ wu 3 feilRaa 3 dY gzt 33 orvr (R) & »u 3 :
sifdrperet (A) @ StoRizRI ST Yslololdl @ YfeRemuol FaR &l Yifft @ arasie SeRizn fRrar & yafe 3
@RI (R) : SloRizF=N AT A g IrRY archt Fzeen forfdfa axdt 3

SWRITP DUl D el 3, ofldl 3T s1e Rl 3 A AR Y IR PI RIel IR :

[Question ID = 10543][Question Description = S2_qSNz_PG_PPS_Q25]



1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 38t 3 3z (R), (A) &t 3 caren & [Option ID = 12169]
&W.ﬁr\%mﬁqect but R is NOT the correct explanation of A/(A) 3iiz (R) Sioii 2idt & weoq (R), (A) &t 3t oz ot 8 [Option ID = 12']repp
. A'is cbrrect BUbl'R 1s not correct/(A) 2@t & woq (R) @ odt & [Option ID = 12171]
4. Ais not correct but R is correct/(A) 3@ s 8 weog (R) 3ét & [Option ID = 12172]

Your Personal Exams Guide

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 3t & 3z (R), (A) & 38 == & [Option ID = 12169]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: In pre-transitional societies, death is common, unpredictable, and can happen at any age
Reason R: In post-transitional societies, death is uncommon and restricted almost entirely to the elderly

In light of the above statements, choose the most appropriate answer from the options given below

oflY Y werot G 310 3 : U sifdrperat (A) @ wu 3 filRaa 3 Y gzt 3ud orur (R) & »u 3 :
sfdrperet (A) @ Japifer - gd Aemsil & I Awre i i Tcor 3 siiz b2l oft sy 3 afea 3t Aot 3
@RI (R) : 32 - Jgifel Aamsl d P RIFIG iR cPBPI gulaRn gg Sieil ao Mia acer 3

SWRIP el @ el 3, fid fBu s1u fawedl # A AT IUTP IR BT <RIl HIRIT :

[Question ID = 10544][Question Description = S2_qSNz_PG_PPS_Q26]

Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) @Xail 38 3 3z (R), (A) &t 3t caen & [Option ID = 12173]

Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) clil 3t 8 uzsg (R), (A) &t 3@ ==n o6l & [Option ID = 12174]
A is correct but R is not correct/(A) 3@ & wssqg (R) @& ordt & [Option ID = 12175]

A is not correct but R is correct/(A) 3@l o8t 8 uzsg (R) 3@t 2 [Option ID = 12176]

A W N =

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 3t & 3z (R), (A) &l & =meen 3 [Option ID = 12173]

27) ldentify the correct sequence of GIS activities
A. Spatial data input

B. Entering of attribute data

C. Spatial analysis

D. Data verification and editing

E. Spatial and attribute data linkages

Choose the correct answer from the options given below

Sit 3115 A fpRIrapemal &1 A8l @t adIe ©
A. Fenford sidssT Mol

B. aqur aeieht sricost B gfafe

C. Fefor® faeauor

D. s1icssi @1 Acaruel 3z Aol

E. Zenform 3iiR 3pur 2ddelt sfips] @ Aud

ofla f3u s1e freveal 3 A I} IR DI TRIeT B ¢

[Question ID = 10545][Question Description = S2_qSNz_PG_PPS_Q27]

1. A, C, B, D, E [Option ID = 12177]
2. A, B, D, E, C [Option ID = 12178]
3. A, B, E, D, C [Option ID = 12179]
4. A, C, D, B, E [Option ID = 12180]

Correct Answer :-
e A C, B, D, E[Option ID = 12177]

28) Which of the following classifications of the population by marital status has been recommended by the U.N.?
A. Single (Never Married)

B. Married (Currently Married)

C. Widowed

D. Divorced

Choose the correct answer from the options given below:



AYTP A of Jaifdy Reafer D sneR uR SeRizn @ fowafeilRaa 3 A fepa aeifaavr &l Fvgfer o1 3 ?
Wi Sreppn preee
B. frarfda (aciemot & farfda)
C. faerar, faeR
D. dacirorer
ofi R s1e frpeul 3 A A8 IR BT wRI6l HIfvTE :
[Question ID = 10546][Question Description = S2_qSNz_PG_PPS_Q28]

A and C only/a@aet A siiz C [Option ID = 12181]

A, B and C only/dact A, B 3liz C [Option ID = 12182]
B, C and D only/adaet B, C sfiz D [Option ID = 12183]
A, B, Cand D/A, B, C siiz D [Option ID = 12184]

A W N =

Correct Answer :-
e Aand C only/@aet A siiz C [Option ID = 12181]

29) Which of the following are mathematical models for population projection?
A. Geometric

B. Cohort-component

C. Logistic growth model

D. Linear growth model

E. UN model life table

Choose the correct answer from the options given below:

forgo1 3 3 Wlot - AT SToRi¥AT YSIUvT 3¢ 1M1 Heieh sifser 3 ?
A. sfirdrx

B. @I - ace

C. diftificas gfy; sitsa

D. it gfy; sifsar

E. ¥, val. ise Siiael arfermr

ofla f3u s1e freveal 3 A A8} IR DI TRIeT BT ¢

[Question ID = 10547][Question Description = S2_qSNz_PG_PPS_Q29]

A, B and C only/dsaer A, B siiz C [Option ID = 12185]
B, C and D only/a@aet B, C siiz D [Option ID = 12186]
C, D and E only/a5ae C, D iz E [Option ID = 12187]
A, C and D only/dqet A, C siiz D [Option ID = 12188]

AN W N =

Correct Answer :-
e A, Band C only/daer A, B 3iiz C [Option ID = 12185]

30) In which one of the following states, the lowest rural female literacy was recorded according to the Census 2011?

ad 2011 & SR @ eRIR fowafRaa 3 A e Isa i Yeraan Alden AR o2 gsf &l o1 ?

[Question ID = 10548][Question Description = S2_qSNz_PG_PPS_Q30]
Bihar /R [Option ID = 12189]

Rajasthan/zsemat [Option ID = 12190]

Odisha/ahfer [Option ID = 12191]

Jharkhand/=m=s [Option ID = 12192]

AN W N =

Correct Answer :-
e Bihar/f@r [Option ID = 12189]

31) Lack of which one of the following is NOT considered as a ‘Micronutrient Deficiency'?

forgotferi3ae 3 A1 fpapT 3piTa "JPgAUIND dea Dl oIdl Hloll SIIdT 37
[Question ID = 10549][Question Description = S2_qSNz_PG_PPS_Q31]



. Iron/els [Option ID = 12193]
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4. Sodium/3ifSer [Option ID = 12196]

Correct Answer :-
® [ron/cils [Option ID = 12193]

32) Arrange the following states in descending order with respect to increase in the number of Census towns between
2001-2011 intercensal period

A. Uttar Pradesh
B. Maharashtra
C. West Bengal
D. Kerala

E. Tamil Nadu

Choose the correct answer from the options given below

2001 - 2011 I 316d SIGPIVIGN i @ i STGIPIVIGH 91821 Ol e 3 gig @ e I forafciRaa sl oI IRIEI (3D A Da) o A
wraf¥erda Hifse :

A. IR g2

B. JsrRIeg

C. uf2pfl demer

D. @z

E. afdrcens

ofla fRu s1e fepeul 3 A & IR @I T B ¢

[Question ID = 10550][Question Description = S2_qSNz_PG_PPS_Q32]

, A, D [Option ID = 12197]
C, D [Option ID = 12198]
, A, B [Option ID = 12199]
A

1. E, B
2. E B
3. ¢, D,
4. C,B , E [Option ID = 12200]

Correct Answer :-
e E B, C, A D[OptionID = 12197]

33) Given below are two statements
Statement I: In the age group of 60+, the sex ratio (the number of females per 100 males) is favourable to women
Statement Il: In the age of 0-6, the sex rate is favourable to men

In light of the above statements, choose the correct answer from the options given below

oflal 3 el fdu srw 3 :

@l - | : 60 ol 3 31fer & 3Ry APp 3 fefr srgpura (gier 1000 gaul uz aifaesii & dean) Afdensii @ sroldye 3
det - |1 : 0 - 6 ad @ 31y Aegs A fefe1 sropured gl 3 slolame 3

ST DUsll D 3HIclid I forafciRaa faameul # 1 A8l 3= ol :

[Question ID = 10551][Question Description = S2_qSNz_PG_PPS_Q33]

Both Statement | and Statement Il are true/aermr | 3iz |l Steif 2t & [Option ID = 12201]

Both Statement | and Statement Il are false/@ermer | 3iiz | Gl sreia & [Option ID = 12202]
Statement | is true but Statement Il is false/memwe | A1 8, fpog @eret |l srera & [Option ID = 12203]
Statement | is false but Statement Il is true/aermr | a1 31 @ , o Peret |l 3t & [Option ID = 12204]

AN W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@per | 3z |l Gieil 3t & [Option ID = 12201]

34) Which of the following themes are incorporated in the vision of the National Health Mission?
A. Universal access to equitable, affordable and quality health services

B. Accountable and responsive health services

C. Intersectoral convergence

D. Architectural corrections in the health system



Choose the correct answer from the options given below:

www.prepp.in prepp

IieT Fareet Rreror B Ristor 3 foreer 3 31 wiot - 2t Rrsrerag Bt onfdret R arem 3 ? m——
A. JHAIR®, JAFAI Td JUIcAD FARL Adrsil b AdFerser

B. Srdrecs gd srelfpRircaA® Fdared Adng

C. sia:wdkr sifdRRur

D. rarea yurreil d ITccHDILR

oflI Ru s1e frpetl 3 A A8 IR T RI6T HIfvTU :

[Question ID = 10552][Question Description = S2_qSNz_PG_PPS_Q34]

A only/d>aet A [Option ID = 12205]

A and B only/@act A siiz B [Option ID = 12206]

A, B and C only/daet A, B iz C [Option ID = 12207]
A, B, Cand D/A, B, C siiz D [Option ID = 12208]

AN W N =

Correct Answer :-
e A only/dact A [Option ID = 12205]

35) Which of the following data sources provide mainly old age health data?
A. UNFPA-BKPAI

B. LASI

C. WHO-SAGE

D. NFHS

E. DLHS

Choose the correct answer from the options given below:

forgot 31 3 Blel - AT STeT P FIXT WU A FGIa AT Adefl FarRe SIel Iucree] BAAT S ?
A. UNFPA-BKPAI

B. LASI

C. WHO-SAGE

D. NFHS

E. DLHS

ofid R s1u frpeul 3 A A8 IR BT RI6l BT ©

[Question ID = 10553][Question Description = S2_qSNz_PG_PPS_Q35]

1. A, B and C only/adaet A, B siiz C [Option ID = 12209]
2. B, C and D only/a>aet B, C siiz D [Option ID = 12210]
3. A, D and E only/d>aet A, D siiz E [Option ID = 12211]
4. C,Dand E only/@aet C, D sik E [Option ID = 12212]

Correct Answer :-
e A, BandConly/@dea A, B iz C [Option ID = 12209]

36) What is the rate of natural increase in world population today?

acdarret 3 foraserizn 3 grafere gfy e = 8 ?
[Question ID = 10554][Question Description = S2_qSNz_PG_PPS_Q36]
1. 2.5%

[Option ID = 12213]
2. 5.2%

[Option ID = 12214]
3. 3.7%

[Option ID = 12215]
4. 1.4%

[Option ID = 12216]
Correct Answer :-
® 2.5%

[Option ID = 12213]
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IA. Dual Labour Market Theory I. Ravenstein

B. Laws of Migration Il. Hugs

C. Social Networking Theory lll. Wallerstein

D. World System Theory IV. Piore

Choose the correct answer from the options given below:

et -1 B 3l -1l A AR B :

Rxedt -1 ot -l

A, SoIcad 9 IR Rigia |. JderéRIo
B. yasiar @1 Rigia 1. &gl

C. i oicad Rigia Ill. arcrr ¥esol
D. farea gumett Rrgia V. 3R

oii<l fSu o1u fqoeul 3 A1 A8 3R gforu :

[Question ID = 10555][Question Description = S2_qSNz_PG_PPS_Q37]
A-1ll, B-1V,C-1,D- Il [Option ID = 12217]
A-1,B-1l,C-1Il, D- IV [Option ID = 12218]

1.
2.
3. A-IV,B-1,C-1II,D - lll [Option ID = 12219]
4. A-11,B -1, C-1IV, D - | [Option ID = 12220]

Correct Answer :-
e A-Ill,B-1V,C-1,D-Il[Option ID = 12217]

38) Match List | with List Il

List | List I

IA. World TB Day 1. 11 July

B. World Health Day 1. 24 March

C. World AIDS Day Il. 7 April

D. World Population Day IV. 1 December

Choose the correct answer from the options given below:

et -1 B 3t -1l A AR Hife

et -1 et -1

A. Rrea aaR® Rawr . 11 gpems
B. Rrea vares Raa II. 24 st
C. Roa uga Raa . 7 aga
D. feq srorizoar Rzt IV. 1 Reie

oifr fu a1 fameul 3 A A8t a2 gfore ©
[Question ID = 10556][Question Description = S2_qSNz_PG_PPS_Q38]

1. A-1,B-1l, C-1ll, D - IV [Option ID = 12221]
2. A-1I,B-1ll, C- 1V, D - I [Option ID = 12222]
3. A-1ll,B-1V,C-1,0D - Il [Option ID = 12223]
4. A-1V,B-IIl,C- 1, D - | [Option ID = 12224]

Correct Answer :-
e A-I,B-1l,C-IIl,D-IV[Option ID = 12221]

39) Identify the correct sequence of initiation (the oldest to newest) of the following demographic surveys:

A. SRS

B. NSS
C. NFHS
D. LASI
E. IHDS

Choose the correct answer from the options given below

forgaifeiRaa serRTiReIbr Adell & grRy (IR YRIe! A ddlclds) o1 Jd O aars
A. o1 3R TA

B. wol vt va
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[Question ID = 10557][Question Description = S2_qSNz_PG_PPS_Q39]

1. B, E, D, A, C [Option ID = 12225]
2. A, B, C, D, E [Option ID = 12226]
3. B, A, C, E, D [Option ID = 12227]
4. C,E, D, A, B [Option ID = 12228]

Correct Answer :-
e B, E, D, A C[Option ID = 12225]

40) Match List | with List Il

List | List Il

IA. Continued population growth will lead to l.
certain worldwide economic and environmental [Thomas

collapse Malthus
B. Population growth stimulates development Il Karl

- TP 8 P Marx
C. Population growth has nothing to do with Ill. Julia
economic development Simon
D. Power of the population is indefinitely greater V. Paul
than the power of the Earth to produce Eh‘rlich

subsistence for man

Choose the correct answer from the options given below:

It -l oot 3 -1l A Fgafera Hifsre :

et -| et -1l
A. STorizen d foRaR gl A ©8 dffaw nfdfe iz I, emert
rRifazvilr udet den dIceRT
. ! N Il. @rct
B. Storizen 3 gfiy; A IR B Qicarsdt gid idr 3 ‘
C. storzizean gigost snfRfa fiwra 3 oI Jder oidl diar .
& A
RIIEE T

D. StorRizar & 91ftp, s @ fére gyedt grr Shfmr IV. dier
Bctool ol i 91fep A sifoifia orer & R adl At 3 [uaferd

oii<l fSu o1u fqoeul 3 1 381 3R gforu :

[Question ID = 10558][Question Description = S2_qSNz_PG_PPS_Q40]
1. A-IV,B-Ill,C-1,D-1

[Option ID = 12229]
2. A-ILB-IV,C-1I,D-1

[Option ID = 12230]
3. A-IV,B-1I,C-1Il,D-I

[Option ID = 12231]
4. A-1,B-1I,C-1,D-1IV

[Option ID = 12232]
Correct Answer :-
e A-IV,B-1lll,C-Il,D-1
[Option ID = 12229]

41) Arrange the following countries in descending order in terms of their relative share of fossil CO; emissions globally in
2019:

A. European Union and the UK



B. United State of America

WwWw.prepp.-in ﬁfﬁﬁ
D. India
E. China

Choose the correct answer from the options given below

forgatfeiRaa Soff ot 2019 & dffas Tz U= Saresr dIdel sifarass @ Arder 3 & el A RIS o A =raf¥ea Hifso :

A. RARRIGT YforIeT 3R Yoirses fporsa
B. 3y s @Yt

E. dior
ofia feu a1 faweul 3t A A8 IR BT arIer HifSe :
[Question ID = 10559][Question Description = S2_qSNz_PG_PPS_Q41]

1. E, B, A, D, C [Option ID = 12233]
2. E, B, D, A, C [Option ID = 12234]
3. B, E, D, A, C [Option ID = 12235]
4. B, E, A, D, C [Option ID = 12236]

Correct Answer :-
e E, B, A D, C[Option ID = 12233]

42) Given below are two statements
Statement I: Women play an important role in natural resource management
Statement II: Woman are more technically skilled for management of natural resources

In light of the above statements, choose the most appropriate answer from the options given below

ofiY <t perer e s1u 3 ¢

el - | : groftres e ydere # afdar! aswayvt st fonmrd 3

@l - |l : grapferes ersll @ geitol @ forg Afdarl awmolldl su A siféra @more Bl
SWRITP DAl D el 3, ofil 3T s1e el 3 A AR IUY IR DI Rl IR :
[Question ID = 10560][Question Description = S2_qSNz_PG_PPS_Q42]

1. Both Statement | and Statement |l are correct/@meet | 3ii |l gleli 3t & [Option ID = 12237]

2. Both Statement | and Statement Il are incorrect/wmew | 3iiz |1 Gl srera & [Option ID = 12238]

3. Statement | is correct but Statement Il is incorrect/@peret | 3 @ , fboq @t |l siera & [Option ID = 12239]
4. Statement | is incorrect but Statement Il is correct/@ewr | s € , fboq @eret |l 2@t & [Option ID = 12240]

Correct Answer :-
e Both Statement | and Statement Il are correct/aem | 3iiz | gleil &t & [Option ID = 12237]

43) The characteristics of a stable population are:
A. Total size of the population is constant

B. Annual birth and deaths are constant

C. Age composition is invariable

D. Crude birth rate is equal to the crude death rate

Choose the correct answer from the options given below:

Rer Seriz=n & faduarnd 3

A. SIoIRIZRI @1 el PR e ¥odr 3

B. aiftfes oot wd gy e Al

C. 3IRy JHce 3ER Bl 3

D. srionfer slodt &2 N e 52 D TR Kl 3

ofi R s1e frpeul 3 A A8 IR BT RIoTl HIfvTE ©

[Question ID = 10561][Question Description = S2_qSNz_PG_PPS_Q43]



1. Aonly/@aet A [Option ID = 12241]
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4. A, B, Cand D/A, B, C 3z D [Option ID = 12244]

Correct Answer :-

e A only/aact A [Option ID = 12241]

44) Which one of the following is the most appropriate to model the age specific pattern of mortality rate from birth to old
age?

forgatferRaa 3 A Dol -AT STod A FgIael dd JFog G2 D AR fafdrse Test o1 sircof TRIR ot & e waifres uygs 8 ?

[Question ID = 10562][Question Description = S2_qSNz_PG_PPS_Q44]
Gompertz model/shmcst sifser [Option ID = 12245]

Logistic model/anfSi3e® diser [Option ID = 12246]

Heligman-Pollard/afemmier diers [Option ID = 12247]

Makeham model/d@pda sifser [Option ID = 12248]

A W N =

Correct Answer :-
e Gompertz model/shmcst sifser [Option ID = 12245]

45) Who among the following are associated contribution to the theories of population?
A. Marquis de Condorcet

B. William Godwin

C. D. H. Meadow

D. A. Omaran

E. Giovanni Botero

Choose the correct answer from the options given below:

forgot 31 3 P2 SRR & sraenmunsil 3 APIGeT Jof A IAdg R sirar 3 ?

A. mfsA < iRt

B. faferma sifsfaer

C. 3l va. =1

D. ©. s@ARa

E. friaci daRt

offa fou s1e el 3 A A} IR DI RIeT B ¢

[Question ID = 10563][Question Description = S2_qSNz_PG_PPS_Q45]

A, B and C only/dbaer A, B 3iiz C [Option ID = 12249]
B, C and D only/a@aer B, C aiz D [Option ID = 12250]
C, D and E only/a>aet C, D siiz E [Option ID = 12251]
A, B and E only/a@aet A, B siz E [Option ID = 12252]

A W N =

Correct Answer :-
e A, Band Conly/dda A, B siiz C [Option ID = 12249]

46) In which layer of the atmosphere is ozone found?

arpisc &t fp21 ura 3 sisier urd sirdl 3 ?

[Question ID = 10564][Question Description = S2_qSNz_PG_PPS_Q46]
1. Thermosphere/emiizbrre [Option ID = 12253]

2. Stratosphere/3¢dbrR [Option ID = 12254]

3. Troposphere/gmuR®Rz [Option ID = 12255]

4. Mesosphere /bR [Option ID = 12256]

Correct Answer :-
® Thermosphere/emitabliz [Option ID = 12253]

47) Which of the following estimates in NFHS-V are available at the State/UT level, only?
A. Domestic violence

B. Sexual behaviour

C. Knowledge, attitude and behaviour regarding HIV/AIDS

D. Random Blood Sugar Level



Choose the correct answer from the options given below:
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Qol U G UA - V I forgsifeiRad 31 wlol -1 3ioldIol dac IsA / A IASA FeR UR IUcietd 3 ?
A. @ B

B. el crasrR

C. vasnddl / vga @ Ader 3 silol, efScmivn iR cIasR

D. aeRe® ¥ 90a5I ¥R .

ofiY Ru s1u fretl 3 A A8 IR T RI6T HIfvTU :

[Question ID = 10565][Question Description = S2_qSNz_PG_PPS_Q47]

A and B only/@det A siiz B [Option ID = 12257]
B and C only/daat B siiz C [Option ID = 12258]
A, B and D only/daet A, B 3iiz D [Option ID = 12259]
A, B and C only/@aet A, B siiz C [Option ID = 12260]

AN W N =

Correct Answer :-
e A and B only/dact A 3liz B [Option ID = 12257]

48) Which of the following are true about (Ro) Basic Reproduction Number:

A. It is used to determine infectious disease transmission dynamics

B. It is an estimate of contagiousness of disease

C. It is a measure of severity of infectious disease

D. It is often considered when designing and implementing a vaccination strategy

Choose the correct answer from the options given below:

forgot 3 3 Plel -AT TEMRYA Yslolole 3T (Ro) DaR A aca 3 ?

A. SADT PRI Sd @ A8T D AGHUT B SIAcHDdA D forerfor & fore drar 3

B. s Rp21 diomdl &bl Fimperadr oI 3opre 3

C. fop2ft FigIe AsT B digar o1 ama

D. yra: saropt faar ao fisar sirar 3 s Sara2un wishifer ot arey s s a1 tar 3
ofia fou s1e el 3 A A} IR DI wRIel B ¢

[Question ID = 10566][Question Description = S2_qSNz_PG_PPS_Q48]

A only/d>act A [Option ID = 12261]

A and B only/d5act A siiz B [Option ID = 12262]

A, B and C only/dbaer A, B 3iiz C [Option ID = 12263]
A, B and D only/d@aet A, B 3iiz D [Option ID = 12264]

AN W N =

Correct Answer :-
e Aonly/dac A [Option ID = 12261]

49) Which of the following population conference first recognized 'Population and development' interface?

forgatferRaa SterRizRI AFdciol 3 SRR 3iR fAPRT 3idRIgTs ol Adya ATeIdr &t ar5?

[Question ID = 10567][Question Description = S2_qSNz_PG_PPS_Q49]
Bucharest Conference/ganzc J#iciar [Option ID = 12265]

Mexico Conference/afriat Jwdiciol [Option ID = 12266]

Cairo Conference/®rRI J@dcial [Option ID = 12267]

Beijing Conference/dfSisr 3@dicter [Option ID = 12268]

AN W N =

Correct Answer :-
e Bucharest Conference/garzc wdtcter [Option ID = 12265]

50) As per India HIV Estimates 2019 report, the estimated number of people living with HIV (PLHIV) is around:

R Td 341$ d Yraderol 2019 falé o seprR va g & A sjf¥ia sifaa cufepeil (i var wa sn dt) b comer e 3 :

[Question ID = 10568][Question Description = S2_qSNz_PG_PPS_Q50]
1. 23.40 Lakh/23.40 e [Option ID = 12269]
2. 23.45 Lakh/23.45 e [Option ID = 12270]
3. 23.47 Lakh/23.47 e [Option ID = 12271]
4. 23.49 Lakh/23.49 @ara [Option ID = 12272]



Correct Answer :-

WAV MO0 [Option D - 12269] prepp

51) Which of the following combination is true about ‘Urban Primary Health Center' under the National Health Mission
(NHM)?

A. Functional for a population of 50,000 to 60,000

B. Maybe located near a slum

C. Will have one Mobile Medical Van

D. Staffed by 2 doctors, 3 staff nurses, 1 pharmacist, 1 lab technician, etc.

Choose the correct answer from the options given below:

IASERT FaReA 319161 @ 3iceld ' 9Edl Yrafiies Fared dg @ |12 I fordet 31 A Dlol - AT JoA AT & ?
A. 50,000 3 60,000 awm &t SiorRize @ fére yoriicas

B. gooft silust aweit & forae &t arasar

C. v diarsd dAfdod ot sl 3

D. verw & 2 3faez, 3 e orf, 1 wEilre 3R 1 &« tasfifdrme don

ofla fRu oo frepeul 3 A & IR @I T B ¢

[Question ID = 10569][Question Description = S2_qSNz_PG_PPS_Q51]

A and B only/daet A siiz B [Option ID = 12273]

A, B and C only/daet A, B 3iiz C [Option ID = 12274]
A, B and D only/dsaet A, B 3iiz D [Option ID = 12275]
A, B, Cand D/A, B, C siiz D [Option ID = 12276]

A W N =

Correct Answer :-
e A and B only/d@aca A siiz B [Option ID = 12273]

52) Which of the following represents the factors affecting exposure to conception as suggested by Davis and Blake's
Intermediate Variables Framework?

A. Fecundity/infecundity as influenced by involuntary causes
B. Use or nonuse of contraception

C. Coital frequency

D. Fecundity/infecundity as affected by voluntary causes

E. Permanent celibacy

Choose the correct answer from the options given below:

forgot 3 A Blel -AT I PR®I D yfer Hiferea wzar 3 Sit snfemzon &t Fisiraen @ Yenfada o & S 3Rt siik s @ aeaadl o= o Baas
garfad oar 3 ?

A. 3cifed oRull A Yuifdda geerorefierdr / srgsierorefierar

B. sniforRreras o1 GRIT AT 3IgRIST

C. Zesiier 6t amgfer

D. dfRe® wrull A ysifada ysiorereficrar / rystorereficrar

E. rerril gorert

ofla fou s1e frpeul 3 A E IR @I T BT ¢

[Question ID = 10570][Question Description = S2_qSNz_PG_PPS_Q52]

A, B and C only/dsaer A, B siiz C [Option ID = 12277]
A, B and E only/a@act A, B siiz E [Option ID = 12278]
A, B and D only/dsaet A, B 3iiz D [Option ID = 12279]
A, B, C and D only/daer A, B, C 3iiz D [Option ID = 12280]

AN W N =

Correct Answer :-
e A, Band C only/daer A, B 3iiz C [Option ID = 12277]

53) Match List | with List Il

List | List Il
IA. Output indicator I. Accomplishment of targetted objectives
B. Process indicator Il. Mid-term effect of programme activities




|C. Outcome indicator Ill. Manner of carrying out various activities

V\M[prprggpm IV. Ultimate result of the programme activities| 'repp

Choose the correct answer from the options given below: Your Personal Exams Guide

It -l ot 3 -1l A Faafera Hifsre :

Rreht -1 ot -l

A. sreyc Addam ||, forerifea cagil @1 gar won

B. yftpzn sidawm |l orima siferfaf2ril @1 aeamifers gema

C. ufvrr Iiddas |ll. fafdeor yor @ oriemanl o erifoaa oo & S
D. s dAdam ||V, oriagar sifafaférl o1 sifeer af¥umer

ofi 3 o1e fawedl 3 A 78 A= gfomw ©

[Question ID = 10571][Question Description = S2_qSNz_PG_PPS_Q53]

A-11,B-1,C-1l,D- IV [Option ID = 12281]
A-1,B-1ll,C-1l,D- IV [Option ID = 12282]
A-1,B-1l,C-1ll, D - IV [Option ID = 12283]
A-1,B-1l,C-1IV,D - Il [Option ID = 12284]

AN W N =

Correct Answer :-
e A-Ill,B-1,C-Il,D-IV[Option ID = 12281]

54) Given below are two statements
Statement I: The Receiving Operation Characteristics (ROC) curve is obtained by plotting sensitivity vs (1-specificity)
Statement Il: The Receiving Operating Characteristic (ROC) curve is obtained by plotting sensitivity vs specificity

In light of the above statements, choose the correct answer from the options given below

off<r 31 werer R arw 3 ¢

@l - | : AfRPEEl yarcre fadruarsit o yra s sirar @ FHdgeteficrar somar (1 - fafdrscar) ot wiic wad
el - |l : fiepdl yarcor fadradar (ROC) @t yra fpar sirar 3 Fdgetoficiar dotrer fafdrsedr @Y wiic wid>
SWRITP PUell D Il 3, ofldl f&u sre farpedl 3 A AR IV IR DI RIol DIfSTT :

[Question ID = 10572][Question Description = S2_qSNz_PG_PPS_Q54]

Both Statement | and Statement Il are true/emr | 3R Il Gleif =1 & [Option ID = 12285]

Both Statement | and Statement Il are false/@sermer | 3iiz | Sloif sRir & [Option ID = 12286]
Statement | is true but Statement Il is false/@erwr | 311 @ , cifeber werer || sRIcr & [Option ID = 12287]
Statement | is false but Statement Il is true/wmemet | 3R & , cifdbor et || 3= & [Option ID = 12288]

AN W N =

Correct Answer :-
e Both Statement | and Statement Il are true/wesr | 3R || G6ll a=r & [Option ID = 12285]

55) Which one of the following is referred to as the index of generational replacement?

forgaiferlRaa 3t 3 fpA didiera yiRrenuet @1 JAgaa dal S 3 ?

[Question ID = 10573][Question Description = S2_qSNz_PG_PPS_Q55]
1. Total Fertility Rate/3we] ysieterar &2 [Option ID = 12289]

2. Gross Reproduction Ratio/2et ystoforen sigjurd [Option ID = 12290]

3. Net Reproduction Ratio/foraet ysteterar sigurd [Option ID = 12291]

4. Mean length of generation/dict &t ameer ciaré [Option ID = 12292]

Correct Answer :-

e Total Fertility Rate/2mm] ystetorc g2 [Option ID = 12289]

56) Which among the following expresses the migration effectiveness of a place A (Origin) with in-migration X and out-
migration Y when out-migration is towards place B (destination)?

forgorferRaa 3t 3 it - AT 3fod: Yasiol X Afde Ferret A (Fet) 6l yasiel Gerapifar iR 9@ yasiel Y &l Rueb ddl & aIal - Ydsiol Ferel B
(3ifSrer) Hr sz 3 ?

[Question ID = 10574][Question Description = S2_qSNz_PG_PPS_Q56]
1. X-Y/X+Y

[Option ID = 12293]
2. Y-X/X+Y

[Option ID = 12294]



3. X-Y/X

WWasLRIepRsin prepp

4. X+Y/Y-X Your Personal Exams Guide

[Option ID = 12296]

Correct Answer :-
o X-Y/X+Y
[Option ID = 12293]

57) Which gas is found in maximum in the air?
gdI 3 Dlol - A 31T TG siferp urs St 8 ?

[Question ID = 10575][Question Description = S2_qSNz_PG_PPS_Q57]
Oxygen/sma=flser [Option ID = 12297]

Carbon dioxide/®worsEs siaruss [Option ID = 12298]

Hydrogen/srStstor [Option ID = 12299]

Nitrogen/smsclstet [Option ID = 12300]

A W N =

Correct Answer :-
e Oxygen/smflsier [Option ID = 12297]

58) In how many years population increases in geometrical progression, according to the Malthusian theory of population?

AR D SIoRIRA RIgia @ iR fpaet aul 3 sorizen i snfirfi yoraer 3 gfig 3 3 ?
[Question ID = 10576][Question Description = S2_qSNz_PG_PPS_Q58]

20 years/20 ad [Option ID = 12301]

25 years/25 ad [Option ID = 12302]

30 years/30 ad [Option ID = 12303]
35 years/35 ad [Option ID = 12304]

AN W N =

Correct Answer :-
® 20 years/20 ad [Option ID = 12301]

59) India's rank in terms of Human Development Index (HDI) in 2020, as per United Nation's Human Development Report
(2020) was:

YD AIvg, Alord frpra Rulé (2020) & IIGIRIR Aleld fdRT Jadie (Ta 3t 3s) o I 3 HRa oI e 3 &

[Question ID = 10577][Question Description = S2_qSNz_PG_PPS_Q59]
1. 129

[Option ID = 12305]
2. 130

[Option ID = 12306]
3. 131

[Option ID = 12307]
4. 133

[Option ID = 12308]
Correct Answer :-
e 129

[Option ID = 12305]

60) Which among the following is used to show income inequality?

forgorferRaa 3 A st YRIeT 3iRT 3 3RAdToIcT Y Gorlol @ fore fapen Sirar 3 ?

[Question ID = 10578][Question Description = S2_qSNz_PG_PPS_Qé60]
Line graph/emsat syrw [Option ID = 12309]

Pie diagram/ur$ srew [Option ID = 12310]

Bar graph/are spw [Option ID = 12311]

Lorenz curve/ei¥st @d [Option ID = 12312]

AN W N =

Correct Answer :-
® Line graph/emsat spw [Option ID = 12309]

61) What does 'Hino euma’ refer to:



'fReirgen o1 = aref 3 :
“’[%thﬁqp:ndﬁﬂmuestmn Description = S2_qSNz_PG_PPS_Q61] 'repp

r Personal Exams Guide

Chinese superstitious year during which people discourage childbirth/sft sierfdearft ad 51 Glaret cliel dret Slodt @I sdlcAad w2l & [Option IDv =12313
Japanese superstitious year during which fertility drops dramatically/oft sterfeiarsft atf St Giarer ystotordr 3 siredbler 3u 3 aaft st 3 [Option ID = 12314]
Korean superstitious year during which people postpone marriage/®if¥ns siefearft 51 claret clel fars @ Fefeid @2 3d & [Option ID = 12315]
Vietnamese superstitious year during which marriage/chidbirth is discouraged/ fdrrdemeft sferfrartt adf SRt Slrel fiars / aret Sieat ot adlcnfad fpn sirar
[Option ID = 12316]

AwN—k

Correct Answer :-

e Chinese superstitious year during which people discourage childbirth/<feft sierfdearft atf fSr1 Slaret cllor aret Stoat I sdlcnfdd o & [Option ID = 12313]
62) What is the relationship between Net Reproduction Rate (NRR) and Gross Reproduction Rate (GRR)?

"foract guiolal' 62 (Tol 3MR 3M1IR) 3R bl Yslolol 62 (Sf 3R 3R) o i o= Ader 3 ?

[Question ID = 10580][Question Description = S2_qSNz_PG_PPS_Q62]

GRR is divided by the survival rates of females/Iwet ysioter G2 @1 aifdemnait bt Iashifdar gt grr oot f&=m smar & [Option ID = 12317]

GRR is multiplied by the survival rates of females/wet ysiolel G2 @I aifdemail I Iasiifddar gt grr spun fipan fopen sar & [Option ID = 12318]
NRR is divided by the survival rates of females/fomact ysiolol g2 @I afacisil bl asiifdar grr sier fé=n smar & [Option ID = 12319]

GRR is equal to NRR/3faset Yiotal 2 fordet Ysiolol 62 @ Wwiel & [Option ID = 12320]

AN W N =

Correct Answer :-
e GRR is divided by the survival rates of females/3Ict ysielel g2 I sifaeiail bt Jasiifdar 3t grr o1t &= sirar & [Option ID = 12317]

63) Match List | with List Il

List | List Il

IA. Theory of a stable population I. Davis and Black
B. Singulate mean age of marriage |ll. William Brass
C. Intermediate variable frameworkllll. Lotka

D. P/F ratio IV. Hajnal
Choose the correct answer from the options given below:

et -1 B 3l -1l A AR Hife

et -1 =t -1

A. f¥err Storizen @1 Rrgia |. 3firT Us scid
B. farars bI wwd AL 3R] Il. faferEr g1
C. srezradil oz aiar lll. ehget

D. di/ v srefura IV. &stoter

ofla feu are fameul 3 A 3 3R gforu :
[Question ID = 10581][Question Description = S2_qSNz_PG_PPS_Q63]

A-1l,B-1IV,C-1,D-Il[Option ID = 12321]
A-1,B-1ll,C-1IV,D-I[Option ID = 12322]
A-1,B-1l,C-1ll, D-1V[Option ID = 12323]
A-IV,B-1,C-1l,D-Ill [Option ID = 12324]

A W N =

Correct Answer :-
e A-Ill,B-1V,C-1,D-Il[Option ID = 12321]

64) Arrange the following EAG states in descending order (High to Low) of infant mortality rate for the year 2018,
according to SRS Bulletin, May 2020:

A. Bihar

B. Jharkhand

C. Chhattisgarh

D. Madhya Pradesh
E. Uttar Pradesh

Choose the correct answer from the options given below
QA IR A geifcol @15 2020 o5 31ofAR foraiicilRad 5 € sit sl of ad 2018 o feru 1919] Jeg 52 D RIS @A (SUR A ofi<d) 3 saalerd Hifsie

A. fdBr
B. smR¥Es

C. sdiwsg
D. sreaggoer



E. s@eggar
VYRR 228t s cor cvror e - prepp
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[Question ID = 10582][Question Description = S2_qSNz_PG_PPS_Qé64]

1. A, B, C, D, E [Option ID = 12325]
2. B, C, E, D, A[Option ID = 12326]
3. C, D, A, B, E [Option ID = 12327]
4. D, E, C, A, B [Option ID = 12328]

Correct Answer :-
e A, B, C, D, E [Option ID = 12325]

65) Match List | with List Il

List | List Il

IA. Social Capillarity I. Karl Winkelblech
B. Optimum population theory Il. Thomas Doubleday
C. The Diet Principle Ill. F.W. Notestein

D. Theory of demographic transition IV. Arsene Dumont

Choose the correct answer from the options given below:

et -l @t 3= -1l A Fafera Hifsre :

Rxeht -1 ot -l

A. et Bfdrmea |. @rct fid>ersctia

B. stcddn sieRizen RBigia Il. emoraT sacs

C. f¢ s13¢ Rrgia lll. uw. sec3y oiieReror
D. SreraiRsrdbi Fiapifer &1 RBrgia V. 3rfor gdic

il f3u o1 fapeul 3 A A8 IR gforw :
[Question ID = 10583][Question Description = S2_qSNz_PG_PPS_Q65]

A-1,B-1l,C-1ll,D- IV [Option ID = 12329]
A-1V,B-1Il, C-1l,D- I [Option ID = 12330]
A-1,B-1ll, C-1I,D- IV [Option ID = 12331]
A-1V,B-1,C-1I,D-lll [Option ID = 12332]

A W N =

Correct Answer :-
® A-I,B-Il,C-Ill,D-IV[Option ID = 12329]

66) Arrange the following settlements according to their size (from smallest to largest)
A. Village

B. Hamlet

C. Town

D. Megalopolis

E. Metropolis

Choose the correct answer from the options given below

forgaifeiRad sravemusl 1 IoId MMBR D MGRIR (T A Joad) caaf¥erd Hifsme :
A. spa

B. &<t

C. a2

D. g&d #AsIoPR

E. #soPR

offal fou s1u frpeul 3 A I IR DI Tol BRI

[Question ID = 10584][Question Description = S2_qSNz_PG_PPS_Q66]

1. A, B, C, D, E [Option ID = 12333]
2. E, A, G, E, D [Option ID = 12334]
3. E, D, C, B, A [Option ID = 12335]
4. B, A, C, E, D [Option ID = 12336]

Correct Answer :-
e A, B, C, D, E[Option ID = 12333]

67) Match List | with List Il



Wht-prepp-in prepp

ec I. Economic theory of fertility vour Personl Exorms ouide
B. Kingsley Davis Il. Social capillarity
C. Harvey Leibenstein lll. Theory of change and response
D. Arsene Dumont IV. Quality-quantity trade-off

Choose the correct answer from the options given below:

3t -1 @ 3t -1l 21 difera difste

oyt -| et -1l

A. 313 b2 I. gefire @1 snffe Rigia

B. fpoarer SforRt 1. Arorer diteifeét

C. zrd crsfaf¥<arer 1. af¥ador 3z smeifepan @1 Rigia
D. spiel sygic IV. spurerar uf¥viEr @I del - Sof

il f3u a1 fascul 3 I A8 IR gfom :
[Question ID = 10585][Question Description = S2_qSNz_PG_PPS_Q67]

1. A-1IV,B-1ll,C-1,D - Il [Option ID = 12337]
2. A-1Il,B-1,C-1I,D- IV [Option ID = 12338]
3. A-1l,B-1,C- IV, D- Ill [Option ID = 12339]
4. A-1,B-1V, C-1ll,D- Il [Option ID = 12340]

Correct Answer :-
e A-IV,B-1ll,C-1,D- Il [Option ID = 12337]

68) Arrange the following states in descending order (high to low) with respect to the share of ST population, according to
the 2011 census?

A. Tamil Nadu
B. Uttar Pradesh
C. Mizoram

D. Nagaland

E. Meghalaya

Choose the correct answer from the options given below

2011 @ SIGPIVIG @ IR 3ol fRId SlofsIIfel MEISt @ 3331 @ dder 3 forgorfe¥aa sl @1 IRIEl (FUR A i) Ba I =raf¥era Hifse :
A. aifdreronrg

B. 3@ ggor

C. RBsia

D. aieIcis

E. drarert

ol fRu s1u frepedl 3 A 8 IR BT Rl BT :

[Question ID = 10586][Question Description = S2_qSNz_PG_PPS_Q68]

C, A, E, B [Option ID = 12341]
, C, E, A, B [Option ID = 12342]
D, E, A, B [Option ID = 12343]
D, E, B, A [Option ID = 12344]

y» By

A W N =
NNoo

» By

Correct Answer :-
e D, C, A E, B[Option ID = 12341]

69) Match List | with List Il

List | List Il

IA. Mosley Chen Analytical Framework |. Age pattern for fertility

B. Coale-Trussell's model Il. Fertility level

C. Bongaart's proximate determinants Ill. Child survival

D. Gompertz Makeham curve IV. Age-specific mortality rate

Choose the correct answer from the options given below:

It -l @1 3 -1l A Fgafera Hifsre :

foxcht | farcht -l




|. Ystelordr I 31’ Ucof

] dn

Il. gSIotolel ¥R

C. difor - smcat grafiaic ReRfoicar

Ill. arer Sazsifda

D. sferurcst divsnt aod

IV. sy fafdrse geg 53

il fou o1 farseul 3 3 A8 IR gfore ©

[Question ID = 10587][Question Description = S2_qSNz_PG_PPS_Q69]

1. A-1ll,B-1,C-1l, D - IV [Option ID = 12345]
2. A-1,B-1I,C-1ll, D - IV [Option ID = 12346]
3. A-IV,B-1,C-1II,D - lll [Option ID = 12347]
4. A-11,B-1ll,C-1,D- IV [Option ID = 12348]

Correct Answer :-

e A-IlIl,B-1,C-1l,D-IV[Option ID = 12345]

70) Match List | with List Il

List |

List Il

IA. Dispersion

I. Analysis of variance

B. Change in the outcome variables Il. Regression analysis

C. Association in variables

11l. Standard deviation

D. Measure in relationship

IV. Chi-square test

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre :

et -1 et -1l

IA. gdbivfor |. =i o1 faecsuur

B. ufyormefi @t 3 uf¥acdor Il. uteol faeayaor

C. @RI & IJ=Ae1 Ill. aro1as forrctor

D. dder 3 ufevmer IV. ®F - TaarR udigior

il f3u a1 fapeul 3 I A8 IR gfore :

[Question ID = 10588][Question Description = S2_qSNz_PG_PPS_Q70]

A W N =

A-1Il,B-1I,C-1V, D - I [Option ID = 12349]
A-1V,B-1ll,C-1l, D - I [Option ID = 12350]
A -

A-11,B-1,C- 1V, D- Il [Option ID = 12352]

I, B-1,C-1l,D - IV[Option ID = 12351]

Correct Answer :-

e A-IlIl,B-1l,C-1V,D-I[Option ID = 12349]

71) Arrange the following Acts according to the time of first enactment (earliest to the most recent)

A. Domestic Violence Act
B. Child Marriage Act
C. Child Labour Prohibition Act

D. Medical Termination of Pregnancy Act

E. Epidemic Diseases Act

Choose the correct answer from the options given below

forgaiferRaa siffrformett @1 gemr siffiformerst (gdas A oIdiclasr) B BITDAGRIR Raf¥erd bifse :

A. @ & siftiforiaret

B. aret faars siféiformer

C. ara o yferier siferformr
D.

ot @1 fafdscetikr et sifeiforra

E. ssamdt siferforrar

ofidI feu a1u faaeul A A A8 Iaz B1 TRIol HIfSTE ©

[Question ID = 10589][Question Description = S2_qSNz_PG_PPS_Q71]

E, D, A, B, C [Option ID = 12353]
E, D, B, A, C [Option ID = 12354]
E, D, B, C, A [Option ID = 12355]
E, B, D, C, A [Option ID = 12356]

AN W N =

prepp
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Correct Answer :-
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72) Three mathematical methods are used to compute the intercensal population growth rate as given below. Which one of
the following expressions represents the correct relationship among computed growth rates?

316¢l: STolPIVIGll 3TAf?l 3 STolRIzeI Uf¥dciol <l SIUIGI ol @ feru ol SIUIRI UGt oI 3ulel dell AFIA & I ol faferit 3 ¢
(i) sicvarfdrcii gfy; g2

(i) senfdrcfies gty o2 sz

(iii) =@aio gty 52

ol dioll fAf?rRIl grRI uf¥mieEa giy gl @ dia Ader ol forvorfeiRaa 3 2 Rpe St A gorten sk 3 ?

[Question ID = 10590][Question Description = S2_qSNz_PG_PPS_Q72]

Arithmetic growth rate > Geometric growth > Exponential growth rate/siwsifordlr afig o2 > Safidie gfg g2 > adie gfig g2 [Option ID = 12357]
Exponential growth rate > Geometric growth > Arithmetic growth rate/=ai® gfyg g2 > Snfifee g o2 > st gig 2 [Option ID = 12358]
Geometric growth > Arithmetic growth rate > Exponential growth rate/snféfein gfig g2 > sierfvrdr g &2 > adid gfg o2 [Option ID = 12359]
All the three growth rates will be equal/3wf el gfg &2 ve w61 & [Option ID = 12360]

AN W N =

Correct Answer :-
e Arithmetic growth rate > Geometric growth > Exponential growth rate/si@sifrdRr gafg g2 > snfirdie gfs a2 > aaie gfg g2 [Option ID = 12357]

73) Who among the following are associated with the study of migration?
A. Everette Lee

B. Arsen Dumont

C. Ronald Lee

D. Michael P.Todaro

E. Samuel A.Stouffer

Choose the correct answer from the options given below:

forgot a1 A fopA yaor @ sreRIe A Jag fovar sirar 3 ?

A. waye ot

B. smefor it

C. 3Joics cft

D. ssda 4. dicrRY

E. 3garme v Hiw2

ofla fRu s1e frepeul 3 A & IR BT T B ¢

[Question ID = 10591][Question Description = S2_qSNz_PG_PPS_Q73]

1. A, Band C only/adact A, B 3liz C [Option ID = 12361]
2. A, B and D only/daet A, B 3iiz D [Option ID = 12362]
3. A, D and E only/a@aet A, D siiz E [Option ID = 12363]
4. A, Cand D only/daa A, C 3iiz D [Option ID = 12364]

Correct Answer :-
e A, Band C only/daer A, B 3iiz C [Option ID = 12361]

74) Imbalanced sex ratio at birth in India can be attributed to:
A. Sex differences in vaccinations

B. Sex difference in malnutrition

C. Sex differences in health care utilization

D. Sex-selective abortion

Choose the correct answer from the options given below:

U 3 Slod D AFA 3RAdferd o1 srofurd @I ®RuT 3 :
A. &t 3 feior Jdel siaR
B. wulyur 3 fefer ddieht siae



C. varrea Aarsil & APRISe 3 feior Idel siar

VAL RES R N prepp
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i fou s1u farapeul 3 37 &l IR BT TR DifTe ©
[Question ID = 10592][Question Description = S2_qSNz_PG_PPS_Q74]

B, C and D only/a@act B, C sz D [Option ID = 12365]
C and D only/a@aet C 3iiz D [Option ID = 12366]

A, B, Cand D/A, B, C siiz D [Option ID = 12367]

A, C and D only/@dct A, C siiz D [Option ID = 12368]

AN W N =

Correct Answer :-
e B, C and D only/@ac B, C siiz D [Option ID = 12365]

75) Who has first used the word ‘Demography'?

"SHRIBY" 916¢ BT Yler Adyera fapor foper 3 ?

[Question ID = 10593][Question Description = S2_qSNz_PG_PPS_Q75]
1. Achille Guillard/uefrer syferrs [Option ID = 12369]

2. Kingley Davis/fdsret 3fd=t [Option ID = 12370]

3. P.W. Frank/dl sse3pw @ [Option ID = 12371]

4. Marx Stopes/araRf ez [Option ID = 12372]

Correct Answer :-
e Achille Guillard/eferet sgferrs [Option ID = 12369]

76) Which of the following indicators can indicate gender equality in a population?
A. Total fertility rate

B. Sex ratio at birth

C. Male-Female under-five mortality rate

D. Marital fertility rate

E. Out migration rate

Choose the correct answer from the options given below:

forgat 3 3 Blat A1 Idam Rpl Storizen # Sis? ATl 6l 3R IHdd B2 Addr & ?
A. @l Yslololdl g3

B. Stodt @ a1 feidT sropura

C. ¥l gau ufa ad A oa gl B Jeg 2

D. daifd® gsioterar g2

E. srar yara

ofla fSu s1e el 3 A A IR B wRIeT HIfSIE ¢

[Question ID = 10594][Question Description = S2_qSNz_PG_PPS_Q76]

1. Aand B only/d>aet A siiz B [Option ID = 12373]
2. Band C only/@aet B siiz C [Option ID = 12374]
3. Cand D only/@ae C siz D [Option ID = 12375]
4. D and E only/a@ae D siiz E [Option ID = 12376]

Correct Answer :-
® A and B only/dact A siiz B [Option ID = 12373]

77) Vector file formats are often used for the following cases:
A. When costs need to be kept down

B. Highly precision application

C. When file size is important

D. When descriptive information must be stored

E. Satellite images

Choose the correct answer from the options given below:

dac? BIsd BRI BT YRIPT YRI: fordel Aerc @ fore gyges a1 3



A. S APIT ©H il Xdl 3
VIRV RESR Rl hctorn Prepp
C. S/ wIsel A Asvayul gidr 3
D. St quieicae Jacirsii B a9 IR Bl BT 3
E. Susf 3 cft o8 azdi?
ofi Reu s1u frpetl 3 A A8 IR T RI6T HIfvTU ©
[Question ID = 10595][Question Description = S2_qSNz_PG_PPS_Q77]

A, B, C and D only/@qet A, B, C siiz D [Option ID = 12377]
B, C and D only/a@aer B, C aiz D [Option ID = 12378]

B, C, D and E only/aaet B, C, D 3iiz E [Option ID = 12379]
A, B, C, Dand E/A, B, C, D siz E [Option ID = 12380]

A W N =

Correct Answer :-

e A, B, Cand D only/daet A, B, C aliz D [Option ID = 12377]

78) Which one of the following inter-state migration streams predominates among females according to Census of India
2011?

adf 2011 &bt sra &l Sioeve & 3igpAR fororfciRad 3 A ®lor -2t Yaster - et afdensil 3 aga sifers 3 ?

[Question ID = 10596][Question Description = S2_qSNz_PG_PPS_Q78]
Rural to Rural/sysflur 3t syefior [Option ID = 12381]

Rural to Urban/syetiur 31 9t [Option ID = 12382]

Urban to Rural/gs$ 31 spwfior [Option ID = 12383]

Urban to Urban/ers$t 3 9isst [Option ID = 12384]

A W N =

Correct Answer :-
e Rural to Rural/spefiur 3 spefior [Option ID = 12381]

79) Basic elements of graphical data include
A. Polygon

B. Line

C. Point

D. Area

Choose the correct answer from the options given below:

aqifter STt & It vl 3 omfdrer 3

A. sgst

B. Yar

C. fig

D. a9

ofla feu s1e freeal 3 A A8 IR DI wRIeT HIfSE ¢

[Question ID = 10597][Question Description = S2_qSNz_PG_PPS_Q79]

B, C and D only/daet B, C sfiz D [Option ID = 12385]
B and C only/d>aet B siiz C [Option ID = 12386]

A, B and C only/dsaer A. B siiz C [Option ID = 12387]
A, B, Cand D/A, B, C siiz D [Option ID = 12388]

A W N =

Correct Answer :-
e B, C and D only/daer B, C 3iiz D [Option ID = 12385]

80) In which of the following places, the novel coronavirus was identified?

forgotfeiRaa fosar FeImel Uz oilddl BRI6 drRIRA &I usdrol &I o efi?

[Question ID = 10598][Question Description = S2_qSNz_PG_PPS_Q80]
1. Beijing/dfifSisr [Option ID = 12389]

2. Shanghai/gfer$ [Option ID = 12390]

3. Wuhan, Hubei/gga, g [Option ID = 12391]

4. Tianjin/emsdfee [Option ID = 12392]

Correct Answer :-



e Beijing/difSior [Option ID = 12389]
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81) IN NFHS-V, which of the following survey tools are used for data collection? Your Personal Exams Guide
A. Household schedule

B. Woman's schedule

C. Man's schedule

D. Bio-markers

E. Visitor's schedule

Choose the correct answer from the options given below:

NFHS - V 3 s1er1 - 3isfg 3q @lol -3 A I0T Yuc) I YRIIBT 3Idr & ?

A. &=z @1 quq

B. sifdem @1 gueg

C. g4 @1 guq

D. 3ia - Rsw gueq

E. amft @1 gueq

ofi Ru s1u frpetl 3 A A8 IR BT RI6T HIfvTU :

[Question ID = 10599][Question Description = S2_qSNz_PG_PPS_Q81]

A and E only/@det A sl E [Option ID = 12393]

A, B and C only/dsaer A, B siiz C [Option ID = 12394]

A, B, C and D only/daet A, B, C 3iiz D [Option ID = 12395]
A, B, C,Dand E/A, B, C, D iz E [Option ID = 12396]

A W N =

Correct Answer :-
e Aand E only/@aet A siz E [Option ID = 12393]

82) Which of the following statements related to stable population is correct:

A. A stable population could grow or decline at a constant rate

B. Percentage of people at each age and sex do not change over time

C. A stable population could remain unchanged i.e. zero growth rate

D. All stationary populations are stable but not all stable populations are stationary

Choose the correct answer from the options given below:

Rer SRz A g HroifefRan sifirerct i A dlor -1 A8 3 ?

A. v ReR Sorizar v Biid o ur a6 Aodl 3 a1 Br Jwodl 3

B. g 3Ry ud fefer @ sl BT Y19 PRI & AT IGeldl oldl &

C. v Rer Sorizsn smuf¥afeia & wrwdl 3 srafa gea afg <2 3t Jwar 3

D. 34 - siftrg STorRiz Rer 2Xdl 3 ciftbor a1a Rerr Serizn sifersg; orél aidl 3
ofi R3u s1u frpeul 3 A A8 3= T wRI6T HifsTU :

[Question ID = 10600][Question Description = S2_qSNz_PG_PPS_Q82]

1. A and D only/dsact A 3z D [Option ID = 12397]

2. A, B, Cand D/A, B, C siiz D [Option ID = 12398]

3. B, C and D only/daet B, C siiz D [Option ID = 12399]
4. A, Band C only/adac A, B aiiz C [Option ID = 12400]

Correct Answer :-
e Aand D only/@aet A siiz D [Option ID = 12397]

83) Which one of the following formulae gives doubling time (+) of a given population?

forgatferfaa 3 A fop=1 3 A vl Yo eIz @ gaJoll dlol 3 ol HRT (t) yre drar 3 ?
[Question ID = 10601][Question Description = S2_qSNz_PG_PPS_Q83]
1. ¢ ﬂ092} /t {|092}

r

[Option ID = 12401]
(12 P 1Y



2. gt By )
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[Option ID = 12402]
log? 2\
3. r: QI{_ (loge}l
2r 2r

[Option ID = 12403]
4. = _ﬂ092}ﬁ_ {|092)
2r 2

[Option ID = 12404]

Correct Answer :-

o 1= {009 _ (og?

r r

[Option ID = 12401]

84) While about 70% of the earth is covered by water, what proportion (in per cent) of water is suitable for human use?
I gedl o1 ceppEl 70 gierord et Sicl A rsIisd & fdpdoll gfergrd sicl Hiold IUieI @ fere U & ?

[Question ID = 10602][Question Description = S2_qSNz_PG_PPS_Q84]
1. 5%

[Option ID = 12405]
2. 1%

[Option ID = 12406]
3. 3%

[Option ID = 12407]
4. 4%

[Option ID = 12408]

Correct Answer :-
e 5%
[Option ID = 12405]

85) Which one of the following diseases is a disease of the Circulatory System?

forForferRaa 3 A ot AT AsT ufiaRvr Yorrctt @1 v et 37

[Question ID = 10603][Question Description = S2_qSNz_PG_PPS_Q85]
1. Cerebrovascular diseases/ygi3aws iassit et [Option ID = 12409]

2. Chronic lower respiratory disease/sfiuf et «aztor a1 Je1 [Option ID = 12410]

3. Diseases of Liver/=ax 31 [Option ID = 12411]

4. Influenza/suesn [Option ID = 12412]

Correct Answer :-

e Cerebrovascular diseases/ysf¥ass aseft et [Option ID = 12409]

86) According to the 2020 SRS Bulletin of India, which one of the following States/UTs has recorded the lowest Crude Birth
Rate (per 1000 population)?

R @ 2020 ©A 3R TA galfed @ 3R forraferRaa 3 A fpa s/ e &iq # sroNferd stedt g2 (gfer 1000 Srorizen) forForaa gof &t o1 3 ?

[Question ID = 10604][Question Description = S2_qSNz_PG_PPS_Q86]
Bihar/fasrz [Option ID = 12413]

Uttar Pradesh/3a= ggar [Option ID = 12414]

Andaman and Nicobar Islands/sissmet 3iiz forplr giu 2mge [Option ID = 12415]
Puducherry/ggast [Option ID = 12416]

AN W N =

Correct Answer :-

e Bihar/Rer [Option ID = 12413]

87) In order to get a population estimate of the District for a particular year in the intercensal period, which one of the
following would be the most preferred method?

fop2ft ad fady 3 s1Ra bl SIeIRITRIT DT 3T CTIol 3Todl: SIolPIvToH AT 3 w20l & YRilstonel forsifeilRaa 3 A a=m Jaiferes sifeemea ught 3 ?



[Question ID = 10605][Question Description = S2_qSNz_PG_PPS_Q87]
WWW“ETQQEthUC rate of population growth for the intercensal period and use it to project population/afe: StesIviel 3mﬁla%i%maalfaﬁp

3i G2 ol 3MIelol B2 A gl 52 B 3A au &l SlorR= ddl ot [Option ID = 12417] Your Personal Exanms Gulde

2. Estimate the geometric rate of population growth for the intercensal period and use it to project population for the year/3ea: SiewIvien m@afil @ fere
SloRRE giy D S 62 P sirdetel B2 A gl 62 @I 37 auf & Serixen adr don [Option ID = 12418]

3. Estimate the exponential rate of population growth for the intercensal period and use it to project population for the year/sioa: Soemien smafi @ fere
SIERRA i & Tedics G2 Pl 3Ibelel B2 33 3 a¥ Dl SRR adI got [Option 1D = 12419]

4. Use natural rate of population growth for the intercensal period and use it to project population for the year/sioa: Soewron safér 3 Siedic2 3R I G2 BI
SWRIPT B2 SRR Gl DI ARV (Slod &2 - 3 62) Dl 3R $AD ARIR W 3A ay &I SleRR:M a1 goit [Option ID = 12420]

Correct Answer :-

e Estimate the arithmetic rate of population growth for the intercensal period and use it to project population/sfed: Soeren 3afe @ fere SeRRRn gy bt
3iPaIfOIcART G2 I 3lIcbeTel B2 3 g G2 DI A ay Dl SRR adr gont [Option ID = 12417]

88) 'The Limits to Growth' theory is associated with:

[Question ID = 10606][Question Description = S2_qSNz_PG_PPS_Q88]
Paul Ehrlich/dict efefa [Option ID = 12421]

Nathan Keyfitz/smeret $ifsest [Option ID = 12422]

Club of Rome/rera sitw st [Option ID = 12423]

United Nations Environment Programme/3igeh 3reg wifazur sorfaet [Option ID = 12424]

A w N =

Correct Answer :-
e Paul Ehrlich/diet efefa [Option ID = 12421]

89) Which is the civilization from which the concept of urbanization has spread?

forgotferRaa b1 AT A 9183I@uT bl @ERN YIfed g5 ?
[Question ID = 10607][Question Description = S2_qSNz_PG_PPS_Q89]

Mesopotamia civilization/driderfdrn &t 3m=rr [Option ID = 12425]
Nile Valley civilization/sffer et &bt Jw=rem [Option ID = 12426]
Harappan civilization/ssur &t m=ier [Option ID = 12427]
Sumerian civilization /¥ &1 a=iar [Option ID = 12428]

N W N

Correct Answer :-
® Mesopotamia civilization/dderférn &bt 3tgerar [Option ID = 12425]

90) Which among the following was introduced by Brundtland Committee Report?
forgatfeilRaa 3t A B goscis Afdfer RUlé grr s o srm e ?

[Question ID = 10608][Question Description = S2_qSNz_PG_PPS_Q90]
Sustainable Development/3iemvfter fdrr [Option ID = 12429]

Sustainable Development Goals/3emrvflr famrt g [Option ID = 12430]

Millenium Development/s¥qrect faprr [Option ID = 12431]

Ultimate Change/sierar] uf¥ador [Option ID = 12432]

Aw N =

Correct Answer :-
e Sustainable Development/zarufler faart [Option ID = 12429]

Topic:- PopStudies_SHAAN_NOV21B
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What is the probability of death from age 1 to 9?

ad 1 3 9 &l sy & dia Fog bt Hsirerar fovaeit 3 ?

[Question ID = 10609][Question Description = S2_qSNz_PG_PPS_Q91]
1. 0.23

[Option ID = 12433]
2. 0.0158

[Option ID = 12434]
3. 0.0027

[Option ID = 12435]
4. None of the above/3uww 3 3 BIE ot

[Option ID = 12436]
Correct Answer :-
e 0.23

[Option ID = 12433]

What is the probability of surviving in age 65-69?

ad 65 - 69 I dia bl IRy I Iasifaar bl JAsicar @ 8 ?

[Question ID = 10610][Question Description = S2_qSNz_PG_PPS_Q92]
1. 0.860

[Option ID = 12437]
2. 0.90

[Option ID = 12438]
3. 0.139

[Option ID = 12439]
4. 0.393

[Option ID = 12440]
Correct Answer :-
e 0.860

[Option ID = 12437]
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According to this table, the numerator and denominator for calculating age-specific mortality rate in age 10-15 is

3 ARYA & 3eRIR 10 - 15 bt 3Ry aot I fafifdee 3Ry el I3 o2 Bl svren 3q IRRTeID AT 3UMEIRID Blot -AT 3 ?

[Question ID = 10611][Question Description = S2_qSNz_PG_PPS_Q93]
1. 367 and 94263 respectively/a@gor: 367 vd 94263

[Option ID = 12441]
2. 367 and 470467 respectively/maor: 367 vd 470467

[Option ID = 12442]
3. 367 and 5986161 respectively/ma9r: 367 vd 59,86161

[Option ID = 12443]
4. None of these/3uf 3 3 DI odt

[Option ID = 12444]
Correct Answer :-
® 367 and 94263 respectively/agor: 367 vd 94263

[Option ID = 12441]

The total person-years lived after age 80 is

adf 80 6t a1y B aIc BT 318 @t aRp - adf ot - A & ?

[Question ID = 10612][Question Description = S2_qSNz_PG_PPS_Q94]
1. 252616

[Option ID = 12445]
2. 1095094

[Option ID = 12446]
3. 114028

[Option ID = 12447]



4. None of these/3wfw 3 3 BIS ot

WwWasLRIepp«dn prepp
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Correct Answer :-
® 252616

[Option ID = 12445]

The difference between Age-specific mortality rate /M, and probability of death is due to:

faffdy 3 5 o= ,m, Td §J &I YHTod & i< 3R [bd PRU U E ?

[Question ID = 10613][Question Description = S2_qSNz_PG_PPS_Q95]

1. Difference in the numerator/3izxIroi® 3 3id2 @ BRUT

[Option ID = 12449]
2. Difference in the denominator/siféiemeres 3t 3i2 @ wrRUr
[Option ID = 12450]
3. Difference in both the numerator and the denominator/3iz=IeIs vd SIfSREIRID Sloll 3 3id2 B BRUT

[Option ID = 12451]
4. None of these/3uwfs 3 3 DI o8t

[Option ID = 12452]

Correct Answer :-
e Difference in the numerator/3ix=IcId 3 3id2 @ BT

[Option ID = 12449]

Topic:- PopStudies_SHAAN_NOV21C

1) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region's population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.
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ad 2010 3 ydl efdrn & srardt cpppT 156 ©As el ATl reraar o1 23% . <iel gform @1 A1 siferd IS aretr 91 T - 3l 3mardt 135
D3 ot 3 &1 B et St w1 87% Mot 3 off 3fiz 8 % wreit 12.7 w2¥s Siuret 3 oftf 2005 - 10 @ Skt siia Siiael yeron vd wet
YsTololdl €2 3oIHIfA 3U A AL 74 ad wd 1.7 Soa off Fusce 3 1o A sifps o 3u A ol bl corsil ol fGzerra & 1950 - 55 3 <ot 3
Siidel Year9n ud et 3ddl g2 40 adf ud 6.2 Siear e 1970 arct 91 3 <ol I JRDR of YSIololdl M Dol 3q I3 &3 DG 3018 3iI? ufvimer
Fa>U Gl Ysiololdl 62 1969 3 6 Sioati 21 1980 Jf 2 31 ofisT SMf2rb 36 srRil 3 8iq i 3mardt 2005 - 10 @ Sikret 0.6% yfer ad &I <2 A 96
3t ot ciftpel A6 Qi g2 Br 1 8 ik gg Kt siftro g 52 A 96 Bt Bar St 3Ad gd @ «iq a1fer 31 PrA yslolordr g2 @I gerldl 3 2010 ao
e - 3Ry 35 ad aw uga gebl it iz cremeT 48% Iardl orsd Siql I 3B W &l PRIU ud IeAdl DI A WIB? SIUTel ¥AT Uscll Y HATST AT
SI8T STolifepebRI AU 3l BT AT TSI Jgd DA &l $91 & Sl Stetifepddl zfe A Siuret A 3ifere fRrpla 3

Given below are two statements
Statement I: Nearly about 9/10 of the population of East Asia resides in China
Statement Il: Demographic characteristics of East Asia predominantly express the demographic characteristics of China

In light of the above statements, choose the correct answer from the options given below

ofi<I <t perer Ru s1w 3 ¢

@erel - | : gdf ofdrm &t smarét ot cener 9/10 st <ot 3 %6 %81 3

@ - || : gdf efdrn & SorifepdR fRrdraand #zea u 3 o & seiifedRI froradnsii o sorfedt 3
SWRftp el @ sl 3 forgarferRaa faasedl 3 A 8 3= o :

[Question ID = 10614][Question Description = S2_qSNz_PG_PPS_Q96]

Both Statement | and Statement Il are true/eret | 3iiz || Slofl 21t & [Option ID = 12453]

Both Statement | and Statement Il are false/@eret | 3iiz |l Gloil sl 8 [Option ID = 12454]

Statement | is true but Statement Il is false/@erer | 311 8, cifdbor weret || 3R 8 [Option ID = 12455]
Statement | is false but Statement Il is true/wmeret | 3R & , cifdbot deror || 3= & [Option ID = 12456]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/memer | 3i |l Geli 3@t & [Option ID = 12453]

2) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region's population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.

forgaiferRae srerior ot eareyde uge: ofid f&u s1e ysoil & Ia= SifSe :

adf 2010 3 ydf ofdrn &t snardt cemneT 156 RIS ot Arell dAretaar o1 23% . ol gforRm I AsRI 31f2d MMEIET arel $or o - 3ADT 3mErst 135
DA el 3 8ie) DI et AIET 1 87% il 3 off 31z 8 % wrell 12.7 @34s siuret d eff 2005 - 10 @ Sivrel SiiRIdA Sildol Yea19m wd agel
Yslololdl &3 3IGIHITIA 3U A DA 74 ad ud 1.7 Sioa ot Fucc 3 b A sifps P Hu A <iel dI gomali ol fGxgerra & 1950 - 55 3 <o o
Sfidel yearenr wd ager 3dvr ¢ 40 ad vd 6.2 Siost a1 1970 ard cord 3 <ol Bl WD of YSIololdl Bl BT 3 & a5 Pdl IoTT 3iiz ufvurer
¥aBU Gl Ystolordl 52 1969 3 6 Siodtl 1 1980 31 2 3 ens1 sifere 36 SRl 51 i bl st 2005 - 10 @ Sierer 0.6% yfer add &l o2 A a6
@ oft afdvel aE gl g2 Br 281 8 siiz g aardt i «fiq g2 A 96 Bt 31 St sad gd @ diq sifer 3 Bra ysiotelar g2 @1 gorfdl 8 2010 ao
HIER - A 35 adf ao uga gl et 3z cepRT 48% naIdt 9rsdl Siql 3 6 Wl ol JPRIU wd Il DI A 9162 SIUTel UAT Uscll Y AATST AT
18T StoelifdbblRI AT 81 3BT AT 3UIST dgd DA Sl I & Sl Slotifdbddl zfte A siuret A sifdrd famlia 3

What percentage of the population in this region resides in rural areas?

31 &I I aISt I fepaett yferord speiivr &gl 3 forart war 87

[Question ID = 10615][Question Description = S2_qSNz_PG_PPS_Q97]
1. 48%/48% [Option ID = 12457]
2. 50%/50% [Option ID = 12458]
3. 52%/52% [Option ID = 12459]



4. 549%/54% [Option ID = 12460]
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o 48%/48% [Option ID = 12457]

3) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region’s population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.

forgotferiiad orerior ol eAreIydd UGd? ofid U 31T yssll @ I SifSe :

ad 2010 3 ydf ofdrn &t smardt cenpT 156 1S off Al sreraar o1 23% . ol gforn T AeRY 3if2re mardt arem Sor o - 3Aadl smarst 135
RS Al 3 &I DI et MEIST B1 87% <ot 3 ofi 3l 8 % Areit 12.7 o24s siuret | off 2005 - 10 @ Sieret 3iiRid Siidel gearon ud aget
YSTololdl &3 3fo[HIftd U 3 A 74 ad wd 1.7 Sied off Fusce 3 15 A sifps 31 vu A Ao &l somsil ol R@ema & 1950 - 55 3 et 3
Sfidet Yemon ud @et dzr <2 40 ad ud 6.2 Sioar a1 1970 darel gords 3 el Bl FIDR o1 YSIololdl DA BIo! 3 a3 a3 BGH IO iz ufruma
FasU el Yelololdl 62 1969 3 6 Stoatl 21 1980 & 2 3 eist 3if2rs 6 SRt 331 81 &t smardt 2005 - 10 & Skeret 0.6% gfer ad &t o2 A a6
& oft cfdvel ' gl g2 Br 261 8 siiz gig anardt ¥ «iiq g2 A 96 Bt 31 it 3@ gd @ diq sifer 3 Bra ysiotelar g2 @1 corfdl € 2010 aow
HIER - A 35 adf ao uga gbi it 3z ceppeT 48% naIdt orsdl Siql 3 6 Wi ol PWRIU wd Il DI A 9182 SIUTel TAT Uscll Y AATST o1
STl STolifdpebIRT AT Bl BT AT 3TST dgel D Sl $91I 8 SiI Slelifcpabl fte A ST A 3ifere fplEa 8

How many years did China take to reduce its TFR from 6 to 2?

ot @I 3ruefl GeT Ystoteldl g2 6 A 2 @l 3 fpdol adl crer ?

[Question ID = 10616][Question Description = S2_qSNz_PG_PPS_Q98]
10 years/10 adf [Option ID = 12461]
11 years/11 adf [Option ID = 12462]
12 years/12 ad [Option ID = 12463]
13 years/13 adf [Option ID = 12464]

A W N =

Correct Answer :-
e 10 years/10 ad [Option ID = 12461]

4) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region's population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.

forgaiferRae srerior ot eareyde uge: ofid f&u s1e ysoil & Ia= SifSe :

aef 2010 3 ydf ofdrn &t snardt cenpT 156 RIS ot Arell dAretaar o1 23% . <ol gforRm T A«RI 31fed MEIET arel S o - 3ADT 3mErst 135
DA Al 3 8iey DI et It 1 87% it 3 off 3iiz 8 % wrell 12.7 @34s siuret 4 eff 2005 - 10 @ Sivrel SR Sildol Yea1om wd agel
Yslololdl €2 3IGIHITIA 3U A DA 74 ad ud 1.7 Sioa ot Fucc 3 b A sifps P Hu A <iel bl gomali ol e & 1950 - 55 3 <ot o
Sfidel yearenr wd ager 3dver ¢ 40 ad vd 6.2 Siost a1 1970 ard cord 3 diel Bl WD of YSIololdl bl BT 3 & a5 Pdl IoTT 3iiz ufvurer
¥aBU Gl Ystolordl 52 1969 31 6 Siodtl 1 1980 31 2 3 eis1 sifere 36 SRl 51 i &l st 2005 - 10 @ Sierer 0.6% yfer add &l o2 A a6
& oft afdvel aE gl g2 Br 81 8 siiz gig anardt i «fiq g2 A 96 3Bt 31 it sad gd @ diq sifer I Bra ysiotelar g2 @1 corfdl € 2010 ao
HIER - A 35 adf ao uga gbi et 3z cepRT 48% IMaIdt 9rsdl Siql 3 6 Wi oAl JRIU wd Il DI A G162 SIUTel TAT Uscll Y AATST AT



18l StotifcbblRl FDMHAUI B 3T AT TS aged DA 8t ¢o1 3 Sl Sholifpdl efte A siurel A aifére famla &
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Which among the following is correct in the light of the above paragraph?

SWTH sTEn9l @& ufeyg 3 forget 3 A dlol - A1 A8 3 ?

[Question ID = 10617][Question Description = S2_qSNz_PG_PPS_Q99]

More than 75% population is below 35 years/75% 3 siférs smarct 35 adf 3 offd & [Option ID = 12465]
More than 50% population is below 35 years/50% 3 aifére smect 35 adf A offd & [Option ID = 12466]
Less than 75% population is below 35 years/75% 3 @ar smanct 35 adf 3 offd & [Option ID = 12467]
About 50-75% population is above 35 years/co1ster 50 - 75% smardl 331 ad 3 uz 3 [Option ID = 12468]

A W N =

Correct Answer :-
e More than 75% population is below 35 years/75% 3 aiférs srarct 35 adf 3 ofta & [Option ID = 12465]

5) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region’s population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.

forgaiferRaa srerior ol earegde ugd? ofiA fou s gesil & 3= v @

ad 2010 3 ydl efdrn & sardt cpppT 156 ©As el ATl Aoraar o1 23% . <iel gform @1 A1 3iferd IS aretr 91 T - 3l smardt 135
DA oMl 3 &Y D et St w1 87% <fior 3 off 3fiz 8 % &relt 12.7 w2is Siuret 3 oftf 2005 - 10 @ Skt siid Sfiael yeamon vd wet
YSTololdl &3 3o U A A: 74 ad ud 1.7 Soa off Fucc 3 b 3 3ifps #za U A <iel dI gomsli ol e & 1950 - 55 3 <ot &
Sildol Yea19n wd et 3l <2 40 ad ud 6.2 Sioat e 1970 arer g1 3 <ol Bl ARPR ol Ysiololdl D Dl 3 I3 I3 D6 301 IR ufumar
Fa>U Gl Ysiololdl 62 1969 31 6 Stodti 21 1980 Jf 2 21 ofisT SMf2rd 36 SRl 3 8iq i 3mardt 2005 - 10 @ Sikret 0.6% yfer ad &l <2 2 96
3t ot cifepel A6 gl g2 Br a1 8 ik gg Kt siftro <iq 52 A g6 Wt Bar st 3AD gd @ «iq a1fer 3 PrA Yslofoldr g2 @I gerldl 3 2010 ao
e - 3Ry 35 ad aw uga gebl it iz cemeT 48% Iardl orsd Siql i 3 W &t PRIU wd Il DI A B2 SIUTel ¥AT Ul Y HATS AT
SI8T STolifepebRI AU Bl 6T AT TSI J5d DH Sl $9I & Sl Stetifepddl efe A Siuret A 3iferp frplRia 3

Which among the following are correct in the light of the paragraph?

A. East Asia's demographic scenario is overwhelmingly influenced by China's situation
B. China is demographically most advanced in this region

C. Japan is demographically as advanced as North America and Europe

D. More than half of the population in the region lives in rural areas

Choose the correct answer from the options given below:

srerior @ uf¥ggr 3 foret 3 2 Plot a1 A& 3 ?

A. gdf ofdrn o1 Setifiedrr uf¥egw siftrar arsen & Rrerfer 21 gonfaa 3

B. stetifépcbir zfte 2t 31 81 3 <ot zraffires frwl@ 3

C. Setifesdi efte A siuret 3adt 3prieT a R Raen felea &

D. 331 8xq bt ameft A ot siferes smard) spEiivr SIqY 3 waclt 3

ol feu s1e faaseul 3 A FE) IR BT T BRI ©

[Question ID = 10618][Question Description = S2_qSNz_PG_PPS_Q100]

1. A, B and C only/addct A, B siiz C [Option ID = 12469]
2. A, Cand D only/a@5aa A, C siiz D [Option ID = 12470]
3. B, C and D only/aaet B, C sfiz D [Option ID = 12471]
4. A, B, Cand D/A, B, C 3iiz D [Option ID = 12472]

Correct Answer :-
e A, BandConly/@dea A, B iz C [Option ID = 12469]



WARAG: e BRI

1) Study the given table carefully and answer the questions that follow

Train  [Source |DestinationDistanceSpeed |Fair per [Total Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 |130 3000 680 400

1002 B Q 1080 (160 3600 870 [550
1003 |[C R 1280 |155 2800 650 [350
1004 D S 1250 (130 2900 980 620

1005 [E T 1180 125 3200 780 [520

fou s1e ARl @l eagde ug 3R SIGIFIRUT Bl arcl Ygoll @T Ik SIS :

il o L%:—am
PIISt R3108 el (gferafep e pr=fdea
i RRorr e |10/ (B3I g M o
€.) /4.)
1001 A P 1200 |130 3000 680 400
1002 B Q 1080 |160 3600 870 |550
1003 [C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 [620
1005 [E T 1180 |125 3200 780 |520

Which train has minimum per km cost?

fop=1 ot 3 gfer .ol ame1a ogotaaar 8 ?

[Question ID = 201][Question Description = S2_qSNz_PG_GP26_Q01]

1. 1001

[Option ID = 801]

2. 1003

[Option ID = 802]

3. 1004

[Option ID = 803]

4. 1005

[Option ID = 804]

Correct Answer :-

e 1001

[Option ID = 801]

2) Study the given table carefully and answer the questions that follow

Train [Source |DestinationDistanceSpeed |Fair per [Total Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 130 3000 680 (400

1002 B Q 1080 |160 3600 870 |[550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 130 2900 980 (620
1005 [E T 1180 125 3200 780 [520
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ot °1e wrvfl @ eaeIgd® UG v GRIRVT Dol darel groll @I IR SIfSrT ¢

ol o lﬁfmﬂ
eIt 210 eide1 (gferaftp e prRfdEa
i RRorr  pReer |10/ (B3R g i i
€.) /.)
1001 A P 1200 |130 3000 680 (400
1002 B Q 1080 |160 3600 870 [550
1003 (C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 (620
1005 [E T 1180 |125 3200 780 (520

Which train will take maximum time to reach the destination?

@il - Al ol Sias > Ugslol 3 MR HIRT cPmesil ?

[Question ID = 202][Question Description = S2_qSNz_PG_GP26_Q02]

1. 1001

[Option ID = 805]
2. 1003

[Option ID = 806]
3. 1004

[Option ID = 807]
4. 1005

[Option ID = 808]
Correct Answer :-
e 1001

[Option ID = 805]
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3) Study the given table carefully and answer the questions that follow

Train [Source |Destination|DistanceSpeed |Fair per [Total Reserved
Number(Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 (130 3000 680 400

1002 B Q 1080 (160 3600 870 [550
1003 |C R 1280 155 2800 650 [350
1004 D S 1250 (130 2900 980 620
1005 [E T 1180 125 3200 780 [520

feu o1 ARl @I eawpgde U 3T GIIRUT B! darer Yooll o 3R SIfSrT ¢

ol o |ﬁﬁ€m1
PISt 23108 eicea (gferafep fmer  prRfda
S e S R A s M oA
€.) H.)
1001 A P 1200 |130 3000 680 400
1002 B Q 1080 |160 3600 870 |550
1003 [C R 1280 |155 2800 650 |350
1004 D S 1250 |130 2900 980 |620




1005

1180

125

3200

780 |520

'\W\W/ F

1A
epp.in

Which train has minimum number of vacant seats?

fep=1 ot i Zarchl 2fict &t ogerasr iz 3 ?

[Question ID = 203][Question Description = S2_qSNz_PG_GP26_Q03]

1. 1001

[Option ID = 809]

2. 1002

[Option ID = 810]

3. 1003

[Option ID = 811]

4. 1005

[Option ID = 812]

Correct Answer :-

e 1001

[Option ID = 809]

4) Study the given table carefully and answer the questions that follow

Train  [Source [Destination|DistanceSpeed [Fair per [Total [Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 (130 3000 680 400
1002 B Q 1080 (160 3600 870 |550
1003 |C R 1280 155 2800 650 (350
1004 D S 1250 (130 2900 980 620
1005 [E T 1180 125 3200 780 [520

3w 31e ARVl @I LAeIgd® UG 3R 3IGIRARVT Pl dicl Yssil I 30 SifsI &

il o lﬁﬁtrm
PIISt 23108 eide (gfercafep e prRfda
iR ool pRerer (AR |(RBAR o R
€.) H.)
1001 A P 1200 |130 3000 680 400
1002 B Q 1080 |160 3600 870 |550
1003 [C R 1280 |155 2800 650 [350
1004 D S 1250 |130 2900 980 |620
1005 [ T 1180 |125 3200 780 (520

What is the average of the number of vacant seats for all trains?

0l oil & zarcht i o1 siada aem 3 ?

[Question ID = 204][Question Description = S2_qSNz_PG_GP26_Q04]

1. 302

[Option ID = 813]

2. 304

[Option ID = 814]

3. 306

prepp
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[Option ID = 815]
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[Option ID = 816]

Correct Answer :-
e 302

[Option ID = 813]
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5) Study the given table carefully and answer the questions that follow

Train  [Source |Destination|DistanceSpeed |Fair per [Total Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 (130 3000 680 400
1002 B Q 1080 (160 3600 870 |550
1003 |C R 1280 155 2800 650 [350
1004 D S 1250 (130 2900 980 620
1005 [E T 1180 125 3200 780 [520
f3u e ARt ot eaIgde ug 31 IGRIRYT WwIal It Yesil aI Iaz Sifste :
@ g
emSt [ sicToex (gfercafes w@a  prfda
Rl oGl RR9IeT (Roaft/ (Fpa. i) ofie iR
6i.) /41.)
1001 A P 1200 |130 3000 680 (400
1002 B Q 1080 |[160 3600 870 |550
1003 |[C R 1280 |155 2800 650 (350
1004 D 1250 |[130 2900 980 620
1005 [ T 1180 |125 3200 780 (520

What is the time difference between the train which takes the maximum duration and the train which takes the minimum

duration?

3ifereped AIRI crRTIoIarct Sol 3R ooldidl AR TPl arctl <ol D dle JRT - 3feRIel fopeton & ?

[Question ID = 205][Question Description = S2_qSNz_PG_GP26_Q05]

1. 2.78

[Option ID = 817]
2. 2.64

[Option ID = 818]
3. 2.86

[Option ID = 819]
4. 2.68

[Option ID = 820]
Correct Answer :-
e 2.78

[Option ID = 817]

Topic:- GP_29NOV_B

1) The name of the MOOC platform developed by IIT Kanpur is

3$ 3 & plolgR gRI fapRa g #ia (teiewit) o o 3 -

[Question ID = 206][Question Description = S2_qSNz_PG_GP26_Q06]



1. SWAYAM/>ai [Option ID = 821]
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4. MOOCK /agw [Option ID = 824]

Correct Answer :-
® SWAYAM/¥ari [Option ID = 821]

2) In the role of a test constructor, how should a teacher proceed?
. Prepare test items that match the instructional objectives

. List the major course or unit objectives

. Prepare a table of specifications

. Specify the course or unit content

m O N © >

. Discard unrealistic objectives

Choose the correct answer from the options given below

up Usigut foritar i sffdrmt &, v o181 b1 YR 3imel agen ?

A. udletur Jct (3115CIA) B TR B Sl MISMTHD 391 A el I 3t

B. ¥ urgIazdA 3rerar TS 38921 Ol Il Sotrolr

C. fafdrscarsii &t ARl SR weln

D. urgrapd sterar sb1E sidadyq ol fade <ir Soir

E. srarzafae 329l ot s Soir

ofiI R3u s1e frpetl 3 A A8 IR T RI6T HifsTT :

[Question ID = 207][Question Description = S2_qSNz_PG_GP26_Q07]

D, E [Option ID = 825]
C, A [Option ID = 826]
, D, B [Option ID = 827]
C, A [Option ID = 828]

A wnN =
oSN >
w > M

Correct Answer :-
e A, B, C, D, E [Option ID = 825]

3) Given below are two statements
Statement |: The brain continues to develop throughout childhood and adolescence.
Statement II: The logical and goal-directed actions begin in the sensorimotor period.

In light of the above statements, choose the most appropriate answer from the options given below

oI <1 ool G are 3 :

Dol - | : Fauel iR fpolRIazen @ Sikiel ARAT® @I fddRT BIar 31 &

Pl - || : aifbas 3z cag - forfdee ozl &bt 9rmamd AAEY Yeap (A3 AeR) sraf?r 3 At 3
SR @il D 3irelld 3, ofld v a1e fameul 3 A AT IWYTD IR DI RI6l HIfSte :
[Question ID = 208][Question Description = S2_qSNz_PG_GP26_Q08]

Both Statement | and Statement Il are correct/@emt | 3iiz || gleil 2t & [Option ID = 829]

Both Statement | and Statement Il are incorrect/@emr | aiiz |l Sl sieta & [Option ID = 830]

Statement | is correct but Statement Il is incorrect/mermt | 2@t 8, fipog et |l ser 8 [Option ID = 831]
Statement | is incorrect but Statement Il is correct/wmeret | steia 8, fipoqg weret |1 3@t 8 [Option ID = 832]

AN W N =

Correct Answer :-
e Both Statement | and Statement Il are correct/erwr | 3ii2 |l Geil A8t & [Option ID = 829]

4) An undergraduate degree with Honors in a discipline may be awarded if a student completes
A. 14 core papers in that discipline

B. 2 Ability Enhancement Compulsory Courses

C. 2 Research paper published in any UGC CARE listed journal

D. Minimum 2 Skill Enhancement courses

E. 4 papers each from a list of discipline specific elective and generic elective papers

Choose the correct answer from the options given below:



Weﬂﬂiﬁmﬂmm%laﬁmm%aﬁwﬁmﬁgﬁmﬁz 'repp
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B. 2 s Jiatiel o siforart urgeazs
C. 3,520 @ siaela ydag et Sofar 3 yaifdra 2 ofteruq
D. Igraan 2 wigra Jaskar urgas
E. fafdrse dofeud siiz Amned (Seifea) Jofeus freril &t It 3 2 yA® et & ar uqg
il fou s1u fyepeul 3 2 I IR BT Tol BT ©
[Question ID = 209][Question Description = S2_qSNz_PG_GP26_Q09]

A, B, C and D only/dact A, B, C aliz D [Option ID = 833]
A, B, D and E only/daet A, B, D 3iiz E [Option ID = 834]
B, C, D and E only/a@ae B, C, D aiiz E [Option ID = 835]
A, C, D and E only/daer A, C, D siiz E [Option ID = 836]

A W N =

Correct Answer :-
e A, B, Cand D only/aaa A, B, C 3iiz D [Option ID = 833]

5) Match List | with List Il

List | List Il

Govternment of India Projects Purpose

IA. Shodhganga I. Expert database + Researcher network
B. SWAYAM PRABHA Il. Thesis database

C. Vidwan lll. Online content delivery platform

D. SAKSHAT IV. DTH educational channel

Choose the correct answer from the options given below:

It -l @t 3= -1l A Fafera Hifsre :

Rxeht -1 ot -l

(3IRA IRBR UfRINSIGNT) (3Z91)

A. omeBeI |. faorust sera=a + onemeff olcaas

B. Farigem Il. oftergaer STera=a

C. fagror Ill. smrotensel sicadaq Jgeoft #ia (wicwra)
D. amgma IV. 3t & va 9ifd1es Jotcaa

ofid feu s1v fawsedl 3 A @ 3w gforo :

[Question ID = 210][Question Description = S2_qSNz_PG_GP26_Q10]
A-Il,B-1V,C-1,D-Ill [Option ID = 837]
A-1V,B-1,C-Ill,D- Il [Option ID = 838]

1.
2.
3. A-1,B-1lIl,C-1l,D- IV [Option ID = 839]
4. A-1I,B-1Il,C-1IV,D-1[Option ID = 840]

Correct Answer :-
e A-Il,B-1V,C-1,D-Ill [Option ID = 837]

6) The exercise of reviewing the relevant literature is most closely related for which one of the following?

gRIfStes fdcn wefign ool o1 BRI forwoiferRaa 3 3 fpRI Jaifére forweaa wu 2 Hdfea 3 ?

[Question ID = 211][Question Description = S2_qSNz_PG_GP26_Q11]
Formulating research problems/ oiter Jr=m3ii @1 foifdfa w2 [Option ID = 841]

In drawing a sample for the study/siezrIer @ fere siafon smaut 3 [Option ID = 842]
For analyzing quantitative data/#rica® ga @1 fecsuvr @2t @ ferw [Option ID = 843]
Generalization of the finding/3ucifser @1 Jmeefiasor [Option ID = 844]

AN W N =

Correct Answer :-
e Formulating research problems/ oiter J1#=usii @l foifdfa o [Option ID = 841]

7) Which among the following is an example of descriptive statistic?

forgotfeiRaa & A ool avieicards ARID! @1 v 3c18301 8 ?
[Question ID = 212][Question Description = S2_qSNz_PG_GP26_Q12]



. Chi-square/dt - za®=r [Option ID = 845]

\&V\?tea%n'?rd ? lonlfi])]zlt;:;;liﬁi ?&ﬂmn ID = 847] ' rep p
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4. t-statistic/<t - Jif¥cb [Option ID = 848]

Correct Answer :-
e Chi-square/dt - za®=r [Option ID = 845]

8) Which among the following are the source of threat to external validity?
A. Sample characteristics

B. Novelty/uniqueness of stimulus

C. Improper manipulation of I.V.

D. Lack of motivation on the part of the participants

E. Reactivity of the assessments

Choose the correct answer from the options given below:

forgaiferRaa 3 2 Plot arer derar @ SiRaa S Pa & ?

A. yfecef fadraars

B. 3Eluet @I 3igodet / sifgediRar

C. 3. dl. &I 3RisId SIS - dIs

D. eurh & 3i= 3 ftrgzur &I ot

E. gcaivat &I gferfepmearaan

ofiI Ru s1e frpetl 3 A A8 IR @I M6l HifsTU :

[Question ID = 213][Question Description = S2_qSNz_PG_GP26_Q13]

A, B and D only/@aet A, B 3iiz D [Option ID = 849]
B, D and E only/d@act B, D siiz E [Option ID = 850]
C, D and E only/@qe C, D iz E [Option ID = 851]
A, B and E only/@act A, B siiz E [Option ID = 852]

AN W N =

Correct Answer :-
e A, Band D only/daet A, B 3iiz D [Option ID = 849]

9) Given below are two statements
Statement |: Sample sizes for qualitative research vary by technique but are generally small.
Statement II: Qualitative research involves non-probability sampling.

In light of the above statements, choose the correct answer from the options given below

ofla) SI ool fu arw 3 :

@l - | : spunea® onier @ fere yfercol s dmolidl GRI freot Bl & cfdber ATHIGT WU A o 3
@erol - || @ spmcars oNter 31z - FHsirerar yfercef a1 onfdrer waar 3

Sufwd el @ 3icid A, offa fu a1g fameul 3 A A IR DI TRIel B

[Question ID = 214][Question Description = S2_qSNz_PG_GP26_Q14]

Both Statement | and Statement Il are true/emr | 3iz Il gloif =1 & [Option ID = 853]

Both Statement | and Statement |l are false/@erwr | 3iiz |l Slell sRir & [Option ID = 854]
Statement | is true but Statement Il is false/@emr | 311 &, fpoq et |l srir & [Option ID = 855]
Statement | is false but Statement Il is true/wermr | 3R 8, fboqg Peret Il =1 & [Option ID = 856]

AN W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3ii2 |l Gell A1 & [Option ID = 853]

10) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Student's t-statistic is a robust statistic.

Reason R: Student's t-statistic can yield accurate analysis of data, even if some of the assumptions of parametric statistics
are violated.

In light of the above statements, choose the correct answer from the options given below

oIl 3I Dol fGu 31w & : U sifrperet (Assertion A) @ U 3 3iiR GIRI 37 DRI (Reason R) @& »u 3f :



fdrperet (A) : fRremeff o1 & - Aifsadt v gee Ailkcrdb! 3
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SURITD eIl @ 3Iciid A, ofla &y faacul 3 A I IR I wRIaT ISt :
[Question ID = 215][Question Description = S2_qSNz_PG_GP26_Q15]

Both A and R are true and R is the correct explanation of A/(A) siiz (R) @lail 311 3 3iiz (R), (A) &t 31t e & [Option ID = 857]

Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) gleil 311 & weag (R), (A) bt 3t we oidt & [Option ID = 858]
Ais true but R is false/(A) 31 8, wag (R) sri=r & [Option ID = 859]

A is false but R is true/(A) srica 3, weoq (R) A= 3 [Option ID = 860]

A W N =

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siz (R) gleil 311 8 3iiz (R), (A) &1 3@ == & [Option ID = 857]

11) In communication, a shrug of shoulders indicates

AYuT d, Bl DI IUDIoN HDA 3 -

[Question ID = 216][Question Description = S2_qSNz_PG_GP26_Q16]
1. Responsibility/3a=eiRica [Option ID = 861]

2. Honesty/sameert [Option ID = 862]

3. Interest/=fa [Option ID = 863]
4. Indifference/3crflorar [Option ID = 864]

Correct Answer :-
e Responsibility/3a=eiRica [Option ID = 861]

12) Which one of the following is a strategy to overcome communication barriers?

forgorferRae 3t 23 lot AYHUT T3l DY 5T B! Bl U Wwiehifer T ?

[Question ID = 217][Question Description = S2_qSNz_PG_GP26_Q17]
Setting of ground rules/3menf¥e formwAl @t =T @wan [Option ID = 865]
Aggression/smagmr [Option ID = 866]

Advance technology provision/3sold dwmoticht grazmet [Option ID = 867]

Use of jargon/regsiret @1 3u=ilt [Option ID = 868]

A W N =

Correct Answer :-
e Setting of ground rules/smenf3a forml @t arr w2om [Option ID = 865]

13) The communication between two persons through letters is an instance of:

uql @ A A 3 cafepdl @ dia Aguur fbae! 3esr 3 ?

[Question ID = 218][Question Description = S2_qSNz_PG_GP26_Q18]
Intrapersonal verbal communication/sioe: defepas enfdga iguur [Option ID = 869]
Intrapersonal nonverbal communication/sfea: dufepd srenfegdm uur [Option ID = 870]
Interpersonal verbal communication/siaz - dfepd enféca 2Quur [Option ID = 871]
Interpersonal nonverbal communication/siaR - dfepd stenfegd iguur [Option ID = 872]

AN W N =

Correct Answer :-
e [ntrapersonal verbal communication/siea: dRifepd onfeca 2ot [Option ID = 869]

14) Which one of the following is an example of form of New Media?

forgotferl3aa 3 3 Plot wd oRI Yol D Hif3ar I v Ie1E0T 8 ?

[Question ID = 219][Question Description = S2_qSNz_PG_GP26_Q19]
1. Newspapers/z@m@aR ug [Option ID = 873]

2. TV/ dt [Option ID = 874]

3. Radio/3f&=n [Option ID = 875]

4. Instagram/sempa [Option ID = 876]

Correct Answer :-
e Newspapers/#r@r ug [Option ID = 873]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In classroom communication, Socratic questioning is one of the effective strategies to promote understanding.
Reason R: Feedback through student evaluation of teachers enhances the quality of classroom communication.

In light of the above statements, choose the correct answer from the options given below



ofld 31 Borer fRu sre 3 ;. u siftrperst (Assertion A) @ u 3 3k gIRI 3@ BRYT (Reason R) & »u 3 :
WIS PR Botcror a1, syt gpor - Rif taret it st 61 ot somoifet 3 3w 2 'repmp
@RI (R) : PIg1al & FPeaiwa b fenfRi @& sreasr A gfergfte wer Ay &I surasr o aar et 3
SWRITD el D el 3, offl 3y faaedl 3 I A8 IaR b1 It HifSte :
[Question ID = 220][Question Description = S2_qSNz_PG_GP26_Q20]

1. Both A and R are true and R is the correct explanation of A/(A) 3z (R) cleil 311 & 3k (R), (A) &t 3& =me=n 3 [Option ID = 877]

2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3z (R) gleil 3 & waq (R), (A) &t 3& e oidt & [Option ID = 878]
3. Ais true but R is false/(A) 3= 3, wog (R) sri=r 8 [Option ID = 879]

4. Ais false but R is true/(A) sri &, w¥og (R) =1 & [Option ID = 880]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siz (R) gloil 31 3 3iiz (R), (A) &I 3#& == & [Option ID = 877]

16) Given below are two statements
Statement I: At 8.55% rate of simple interest, a certain sum will be doubled in 12 years.
Statement II: In 3 years 1000 will become ¥1331 at compound interest rate of 10% per annum.

In light of the above statements, choose the correct answer from the options given below

ofi<I <t werer fRu s1w 3 ¢

@erel - | : aremvr <arst @ 8.55% ot 52 A, v forfaa wfdr 12 auf 3 Sreh 31 et
@l - |l @ gferad 10% &t aaqpgfy; st &t g2 2t 1000 . dior adf 3 1331 . 2 sreen
SR> @il @ 3irelld 3, ofld fCu a1e farmeul 3 A J8 IR @I wRel DR :
[Question ID = 221][Question Description = S2_qSNz_PG_GP26_Q21]

Both Statement | and Statement Il are true/emr | 3iz |l Gloif a1 & [Option ID = 881]

Both Statement | and Statement Il are false/asermr | 3iiz |l Slelf i1 & [Option ID = 882]
Statement | is true but Statement Il is false/eret | 31 8, fiboq @erat |l 3Rt 8 [Option ID = 883]
Statement | is false but Statement Il is true/wmeret | 3RIcI 8, fbog et |l A1 8 [Option ID = 884]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/aemwr | 3ii2 |l Gleil 211 & [Option ID = 881]

17) Which of the following statements are correct?

A. The sum of three consecutive multiples of 3 is 72. The largest number is 27.
B. A number when multiplied by 13 is increased by 180. The number is 13.

C. The average of first 20 multiples of 7 is 73.5.

Choose the correct answer from the options given below:

frrafeRad wemeil u? R o3 -

A. 3 & fier I saacd @1 AP 72 3 AR 991 v 27

B. v zizean 3 13 A opon w2l 180 6 gfi; Y sireft 3 zizoam 13 3

C. 7 & gaa 20 @ sraacd o1 siikia 73.5 8

SURITD Dol i A Blet A 3 ?

[Question ID = 222][Question Description = S2_qSNz_PG_GP26_Q22]

A and B only/@act A siiz B [Option ID = 885]
B and C only/daet B siiz C [Option ID = 886]
A and C only/dact A siiz C [Option ID = 887]
A only/d>act A [Option ID = 888]

AN W N =

Correct Answer :-
® A and B only/d@act A 3z B [Option ID = 885]

18) When a sum of money was distributed to 12 boys instead of 16 boys, each boy got ¥40 more. What was the sum?

SId BURY bl ues A Bl 16 TISDI D oI 12 cISPbI A dicT sRI dl, YAdb crsdl 40 . siférd arn g Aafdr o= off ?

[Question ID = 223][Question Description = S2_qSNz_PG_GP26_Q23]
1. 1290



[Option ID = 889]

WWiK.prepp.in prepp
[Option ID = 890] Your Personal Exams Guide
3. 480

[Option ID = 891]
4. 840

[Option ID = 892]
Correct Answer :-
e 1290

[Option ID = 889]

19) The ages of Lokendra and Dharmendra are in the ratio 6:5 and the sum of their ages is 44 years. What will be the ratio
of their ages after 4 years?

clidog 3iIR erdfg bl 3Ry 3 6:5 b1 SrgIurd 3 3T1R Iorhl 3R br AT 44 adf & 4 ad |G Iordhl I DI HGUId T=T BT ?

[Question ID = 224][Question Description = S2_qSNz_PG_GP26_Q24]
1. 8.7

[Option ID = 893]
2. 7:8

[Option ID = 894]
3. 7:6

[Option ID = 895]
4. 9:7

[Option ID = 896]
Correct Answer :-
e 38:7

[Option ID = 893]

20) In the series 9, 18, 36, --- what will be 12t term?
9,18, 36 bt gufi s ___ 12 ai ug o= aiem ?

[Question ID = 225][Question Description = S2_qSNz_PG_GP26_Q25]
1. 18556

[Option ID = 897]
2. 18652

[Option ID = 898]
3. 18232

[Option ID = 899]
4. 18432

[Option ID = 900]

Correct Answer :-
e 18556

[Option ID = 897]

21) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Denotation cannot be used to define words that have an empty extension
Reason R: Although connotation determines denotation, denotation does not determine connotation

In light of the above statements, choose the most appropriate answer from the options given below

oflA 3 werer fRu sre 3. up sifdraperst (Assertion A) @ 3u 3t iz gRI 3AD BRYT (Reason R) @ »ug 3 :
fdrperot (A) : FRoamel T IURNET VA 9166t B URHIRIT 2ot ¥ o1l fopan st Adar Sl b forer - fdarard ar
wrvr (R) @ ety sigepref sl @1 Brerfzor aaar 3, gl sigeorel @1 Brerzor ordl aeen

SURITD Dol D Il A, ofld &y famedl 3 A JE IR DI TRIaT HiIferw :

[Question ID = 226][Question Description = S2_qSNz_PG_GP26_Q26]



1. Both A and R are correct and R is the correct explanation of A/(A) 3z (R) cleil 38t 3 3k (R), (A) &t 3 carez=n & [Option ID = 901]
&W.ﬁr\%mﬁqect but R is NOT the correct explanation of A/(A) siiz (R) Sioii 2idt & weoq (R), (A) &t 3t cemzeen ot 8 [Option ID = 90' repp
. A'is cbrrect BUbl'R is not correct/(A) @t & wog (R) @t arét & [Option ID = 903]
4. Ais not correct but R is correct/(A) 3@ ot @ wog (R) 3t & [Option ID = 904]

Your Personal Exams Guide

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) gl 3 & 3z (R), (A) &t &t =meen & [Option ID = 901]

22) ldentify the fallacy committed in the argument
All cats are animals.
All dogs are animals.

Therefore, all dogs are cats.

33 AD dIa=I A Plol AT QY 8 ?

il fafeerit Sierar &

A3it gl StrelaR &

. 0l g RfeerIt 3

[Question ID = 227][Question Description = S2_qSNz_PG_GP26_Q27]

1. Fallacy of Four Terms/«ar ugl arerr giw [Option ID = 905]

2. Fallacy of the Undistributed Middle Term/sifaef¥ sieer ug aremm gtw [Option ID = 906]
3. Fallacy of the Exclusive Premises/fdfsre smemararil arenr giw [Option ID = 907]

4. Existential Fallacy/si¥arauzs gw [Option ID = 908]

Correct Answer :-
e Fallacy of Four Terms/ar ucl are g [Option ID = 905]

23) Identify the fallacy committed in the following argument:
"American Indians are disappearing.
That man is an American Indian.

Therefore, that man is disappearing.”

forsstferRaa acara=r d Sy &1 usarfer :
"sraf¥dbl sl facidt 21 22 3; a6 cafts v sl srdix 2; safere ag cafp facd a1 2@ 3
[Question ID = 228][Question Description = S2_qSNz_PG_GP26_Q28]

1. Fallacy of Composition/ziafet - grg [Option ID = 909]

2. Fallacy of Division/fasfp - g [Option ID = 910]

3. Fallacy of Accident/3uifer - grw [Option ID = 911]

4. Fallacy of Converse Accident/3uifér - wrrr - gtw [Option ID = 912]

Correct Answer :-
e Fallacy of Composition/=2isfe - giw [Option ID = 909]

24) The condition that there should be an absence of contradiction in the relation of the objects denoted in the
combination of words, for the sentence to be significant is known as which one of the following?

ara @ Arefes dlol @ fere W=t ord for1al orscl & oar 3 forfdte avqgail @ Jder 3 frRIemirRT oI spia 3, forsfiRaa e wu 3 Stren srar 3 ?

[Question ID = 229][Question Description = S2_qSNz_PG_GP26_Q29]
1. Akarksa/amsigm [Option ID = 913]

2. Yogyata/:lear [Option ID = 914]

3. Sannidhi/=faf [Option ID = 915]

4. Tatparya/arw=f [Option ID = 916]

Correct Answer :-
o Akarksa/amwign [Option ID = 913]

25) Given below are two statements
Statement I: A vyapti between two terms of equal extension is called Samavyapti.
Statement II: The relation between fire and smoke is that of Samavyapti.

In light of the above statements, choose the correct answer from the options given below

ol o1 @erot fou 1w 3 ¢



Pl - | : e Rdar & <1 ucl @& dia cfi @ iy war siar 3

WM. PIGRRIRY & o s st prepp
SWRfTh Dol @ 3l #, ofidl U °1e freul 3 2 W&l IR &1 T Hifste ©
[Question ID = 230][Question Description = S2_qSNz_PG_GP26_Q30]

1. Both Statement | and Statement Il are true/@emwt | 3iz |l gleii A & [Option ID = 917]

2. Both Statement | and Statement Il are false/ert | siiz || Sleil sRir & [Option ID = 918]

3. Statement | is true but Statement |l is false/@emr | 31 &, fbog et |l s & [Option ID = 919]
4. Statement | is false but Statement Il is true/@eret | 3RII 3, fdbog et Il =1 8 [Option ID = 920]

Correct Answer :-
e Both Statement | and Statement Il are true/meser | 3l |l g6l =1 & [Option ID = 917]

26) The World Wide Web (www) is

acs arss dd (Socyg Socyg S6ck) B ©

[Question ID = 231][Question Description = S2_qSNz_PG_GP26_Q31]

A massive network of networks which are made up of various computers/sicast @1 e sifeifdere olcad it fb 3ol BwIe3 A ol g3u & [Option ID = 921]
The Internet makes use of TCP/IP protocol/se¥oie <t =it dt / 31 Ul gictaicr @I 3wiel @l & [Option ID = 922]

A company which allows a user to connect to the Internet/cusft Sit ggirepI P $cole 3 Fsal P solerd gar & [Option ID = 923]

A collection of multimedia web pages and other documents which are stored on websites/accisfifEen da sl sii2 srowr G GIASI DI 20 Sit b daise W
9USI¥A (3XRS) fbu s 8 [Option ID = 924]

AN W N =

Correct Answer :-
e A massive network of networks which are made up of various computers/olcamt @I v 3ifeifdoleT olcdd il {eb 3ol drlel A doll g3 & [Option ID = 921]

27) Hypertext Transfer Protocol (HTTP) is

BEWR a3 gAwmR Qidimid (Tadldd) 3 :

[Question ID = 232][Question Description = S2_qSNz_PG_GP26_Q32]
1. Transfering file from one computer to another/v® ®wc2 A G 3 WIscl BI FeMelicRul Bl [Option ID = 925]
2. A text-based protocol used when sending emails/<$dct 915K BRI Care 31Ny YIckplel oI WIS @ & [Option ID = 926]
3. Protocol used to find an IP address/sis. dt. u331 gra 2ol 3 Yictaicl &1 3wl dar & [Option ID = 927]
4. Fetching an HTML document from a web server/v® daRidz 3 va & vl el Gadst @l formreton [Option ID = 928]

Correct Answer :-
e Transfering file from one computer to another/v®d ®wie2 A R 3 Wiscl &I FAGHARVI Bl [Option ID = 925]

28) Given below are two statements regarding phishing.
Statement I: It is a program code that can replicate itself with the intention of deleting files.
Statement IlI: It can be filtered but at the Internet Service Provider's (ISP) level.

In light of the above statements, choose the correct answer from the options given below

fibR¥ie1 & Jder 3 offar 3 weret Ru sre 3 :

DUl - | : U8 vd Yo DI 3 Sil Wiscll @l &clol D 359 A Uil rofdpfer AR B2 Addr 3
@t - |l : 18 $evoie Aar Ygidt @ IR uR fibees foen st aaasar 3

SRt @il @ el 3, ofid v s1e fmeul 3 A A8l IR @I e IR :

[Question ID = 233][Question Description = S2_qSNz_PG_GP26_Q33]

1. Both Statement | and Statement Il are true/aemwt | siiz |l gleil A= 8 [Option ID = 929]

2. Both Statement | and Statement Il are false/@eret | 3ii2 |l Gleil st & [Option ID = 930]

3. Statement | is true but Statement |l is false/@emer | 3 8, g @t |l spier & [Option ID = 931]
4. Statement | is false but Statement Il is true/memt | sRic 8, fpog @l || A & [Option ID = 932]

Correct Answer :-
e Both Statement | and Statement Il are true/@eser | 3 |l G6li 31 & [Option ID = 929]

29) Which of the following statements regarding Intranets are correct?
A. The Intranet can be accessed from anywhere by anyone

B. The Intranet has public access

C. They are more secure than internet

D. In Intranet, it is possible to control external links

Choose the correct answer from the options given below:



Ws\%lzavz\}%aaeﬂpﬁpﬁjﬁ%rﬁﬂamsmﬁﬁﬁﬁ,aﬂmmaﬁga: 'repp
A. 3ol @1 IuRIEI 5l & gRI Bt A off e s rpar 3 Your Personal Exams Guide
B. gezole @1 Ardsifore SuRNeT Biar 3
C. a scaoic & aragn i FrAda &

D. gevole ¥, arer o3zl (i) @ orifea @ JHwa 3
ofid feu s1u el 3 A A8 TR @I <RIl HIfSrU :
[Question ID = 234][Question Description = S2_qSNz_PG_GP26_Q34]

1. A, B and C only/@aet A, B iz C [Option ID = 933]
2. Cand D only/aae C siiz D [Option ID = 934]
3. A, Cand D only/a@aet A, C siiz D [Option ID = 935]
4. B and C only/a@aer B siiz C [Option ID = 936]

Correct Answer :-
e A, Band C only/a@act A, B siiz C [Option ID = 933]

30) Match List | with List Il

List | List Il

Name of Memory SizeNumber of bits
IA. MB (Megabyte) |Il. 230

B. GB (Gigabyte) II. 2%

C. TB (Terabyte) I, 220

D. PB (Petabyte) Iv. 240

Choose the correct answer from the options given below:

el -1 1 3 -1l A Jafera difSie

et -1 et -1l
A. gar &t (Aerrersc) 1. 230

B. oft @t (sNomansc) i1, 25
C. & &t (Remrse) . 22
D. t &t (dcraréc) Iv. 240

offd feu s1v fawsedl 3 A @ 3w gforo :
[Question ID = 235][Question Description = S2_qSNz_PG_GP26_Q35]

1. A-1,B-1ll, C-1,D- IV [Option ID = 937]
2. A-1Il,B-1,C-1V, D - Il [Option ID = 938]
3. A-1Il,B-1I,C-1,D-IV[Option ID = 939]
4. A-11,B-1,C-1ll, D- IV [Option ID = 940]

Correct Answer :-
e A-Il,B-1l,C-1,D-IV[Option ID = 937]

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The in-situ passive soil remediation process is the easiest to implement and the least expensive

Reason R: It relies upon several natural processes to destroy the contaminants

In light of the above statements, choose the most appropriate answer from the options given below

il ot perel fRu s1e 3@ uep sifdiaperet (Assertion A) @ »u 3 iz gRI 339D PRUI (Reason R) & wu 3 :
sifdrperet (A) @ ¥a - Ferel foifSapa Jo1 IUTR g B UGITel AR MRAT6T iR AR o Fcilen 3

@rul (R) : A8 AfFAUIl Bl AATH B0l &I Al Yrapfers gfigen uz fonkk 3

SR Becll B 3IUCID 3, o U frasctl 3 A A8 3az o1 wRIoT Hifsre :

[Question ID = 236][Question Description = S2_qSNz_PG_GP26_Q36]

1. Both A and R are correct and R is the correct explanation of A/(A) 3z (R) cleil 38t 3 3z (R), (A) &t 3 wmezn & [Option ID = 941]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) @il 2t 3 udsq (R), (A) 6t & =meen oidf 2 [Option ID = 942]
3. Ais correct but R is not correct/(A) 3@l @ weog (R) &t a8t 8 [Option ID = 943]

4. Ais not correct but R is correct/(A) 3@ oiét 8 uzoq (R) 28t & [Option ID = 944]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/ (A) sik (R) el 3t & 3iik (R), (A) &t 3& == 8 [Option ID = 941]



32) Dewatering of sewage sludge can be achieved by

WAV AR RRe g Prepp
B. Mechanical stirring
C. Osmosis
D. Floatation

E. Screening

Choose the correct answer from the options given below:

SIcT - J1el @ HIas Bl JHre! Bl BRI fpads FrI s s Adar 8 ?

A. 3rvca Rrarur

B. ifge fachiss

C. RRRUI

D. waat

E. oeda (Fagifsior)

ofid feu a1 faasedl 3 A A8 IR @1 TRIeT HIfSe :

[Question ID = 237][Question Description = S2_qSNz_PG_GP26_Q37]

A, B and D only/dbaer A, B 3iiz D [Option ID = 945]
B, C and E only/@qe B, C aiiz E [Option ID = 946]
A, C and D only/d@act A, C siiz D [Option ID = 947]
C, D and E only/asaet C, D siiz E [Option ID = 948]

A W N =

Correct Answer :-
e A, Band D only/daet A, B 3liz D [Option ID = 945]

33) Match List | with List Il

List | List Il

IActs Year of Inception
IA. Water Prevention and Control Act|l. 1986

B. Air Prevention and Control Act [Il. 1974

C. Environment Protection Act 1. 1987

D. The Factories Amendment Act [IV. 1981

Choose the correct answer from the options given below:

et -1 B 3l -1l A A Hife

Rxeht -1 et -l
(3rferforran) (g9t @1 adf)
IA. Ste1 forarut 3ii foriqur siférformer 1. 1986

B. ary forarur 3iiz foriqur siférformer 1. 1974

C. u=ifazur Fizgivr sifrforTar 1. 1987
D. Bacdt sAonera siferforiar V. 1981

il f3u a1 fapeul 3 I A8 I gfore :
[Question ID = 238][Question Description = S2_qSNz_PG_GP26_Q38]

A-11,B-1V, C-1ll, D -1 [Option ID = 949]
A-11,B-1V,C-1,D- Il [Option ID = 950]
A-1IV,B-1Il,C-1,D- Il [Option ID = 951]
A-1Il,B-1,C-1l,D- IV [Option ID = 952]

AN W N =

Correct Answer :-
e A-Il,B-1IV,C-Ill,D-I[Option ID = 949]

34) Which one of the following isotopes of Uranium is fissile material and can be used for nuclear reactions?

forgotferi3ae 3 A1 Dol AT b JRMoRIA BT 3MsAIcIU fREs usrel 3 3k onfdrbia sifdifep @ fere yygop fop=n s Awman 3 ©

[Question ID = 239][Question Description = S2_qSNz_PG_GP26_Q39]
1. U-234/U-234 [Option ID = 953]
2. U-235/U-235 [Option ID = 954]
3. U-236/U-236 [Option ID = 955]
4. U-238/U-238 [Option ID = 956]

Correct Answer :-



e U-234/U-234 [Option ID = 953]

WWW.PFEPP.IN prepp

35) Rain is termed as acid rain when its pH value is Your Personal Exams Guide
quf @I il auf @ U 3 Siell SIIdT 8 S $:A@1 pH e 8l @

[Question ID = 240][Question Description = S2_qSNz_PG_GP26_Q40]
1-3/1 - 3 [Option ID = 957]

Less than 5.6/5.6 3t @wa [Option ID = 958]

5.6-7.0/5.6 - 7.0 [Option ID = 959]

More than 7/7 3 siféra [Option ID = 960]

A W N =

Correct Answer :-
e 1-3/1 - 3 [Option ID = 957]

36) Who chaired the first committee constituted by Government of India on Women's education after independence?

IaAgAl D 91 ARl B 18T U= HRA IRPR TIRI 31fSa Yeran Afifer bl sreagiar et & ?

[Question ID = 241][Question Description = S2_qSNz_PG_GP26_Q41]
Dr. Radhakrishnan/sr. Jrermaswier [Option ID = 961]

Dr. Durga bai Deshmukh/st. getfaré Semgea [Option ID = 962]

Hansa Mehta /& dsar [Option ID = 963]

Kamala Chaudhary/aren dierst [Option ID = 964]

AN W N =

Correct Answer :-
e Dr. Radhakrishnan/st. aienmgywret [Option ID = 961]

37) Disruptive technologies in education mean

181 3 fErcordrsl dmoiiat @1 sfigrr 3 :

[Question ID = 242][Question Description = S2_qSNz_PG_GP26_Q42]

1. New technologies that completely change the way things are done in education/orft adofid> fSrior Stetfdrem yfdpen b fisii @l yuiaen gcet fzm 8 [Option ID =
965]

2. Prevention of technology in education/fren 3 daofias bt Aaemsr [Option ID = 966]

Use of Artificial Intelligence/afca gfig @1 3u=ier [Option ID = 967]

4. Obsolete technology/smafera dwafias [Option ID = 968]

w

Correct Answer :-

e New technologies that completely change the way things are done in education/srft dwofid fSrtor teifdres yfepem <t fisii @1 gulaen aget fzm & [Option ID =
965]

38) Given below are two statements

Statement I: "The improvement of Secondary Education was an essential foundation for the improvement of Secondary
Education”, was the view held by the Calcutta University Commission

Statement Il: The Calcutta University Commission recommended the use of mother tongue in the intermediate colleges for
teaching all the subjects

In light of the above statements, choose the most appropriate answer from the options given below

ofla 3 Dol fdu srw 3 :

Dol - | : "Freafie 918 A Jar areaide e d JUR D e sifdersrayui mER ar” s fAkIR werddl [afdEer RIPT I o1
Pl - || : el fRrafencrt sRIeT of st fRreril B ugTel @ foru sedfifdue wicksil 3 AqgeTar & IwRNBT & srgrein =
SWRftP Dol @ srclle 3, ofid fRu s1e feeul 3 A AR VYT IR I a6l HifSte :

[Question ID = 243][Question Description = S2_qSNz_PG_GP26_Q43]

Both Statement | and Statement Il are correct/eret | 3iiz |l gleil &t & [Option ID = 969]

Both Statement | and Statement Il are incorrect/@emt | aiiz | Gleil sieta & [Option ID = 970]

Statement | is correct but Statement Il is incorrect/merwer | 3@l 8, fbog weret |l swera & [Option ID = 971]
Statement | is incorrect but Statement Il is correct/wmet | steia 8, fipoqg weret |1 3@t 8 [Option ID = 972]

AN W N =

Correct Answer :-
e Both Statement | and Statement Il are correct/aemr | 3iiz | gleil 21&t 8 [Option ID = 969]

39) The presence of which of the following points poses challenge for higher education system as per NEP-2020?
A. Large affiliating universities

B. Ineffective regulatory system

C. Limited teacher and institutional autonomy

D. Emphasis on research



E. Efficient merit, based career management and progression of faculty members
WWW.prepp.in Prepp

Choose the correct answer from the options given below: Your Personal Exams Guide

orfl forer ofifer - 2020 o5 3reRIR Ica fren 3 fepe gollferit fovet forgorfeiRaa figsil i yzga axdt 3 @
A. gsa dAslg frafdencrn

B. srggirdl faformare wrazen

C. Hifdra forgras il Frenfores Farmar

D. oiier uz €et

E. ce1 Aewaar smenfya BiRR yseret sk Baocdt ARl ot aga

oflar fSu s1e el 3 A A8 IR B wRIeT B ¢

[Question ID = 244][Question Description = S2_qSNz_PG_GP26_Q44]

A, B and C only/daer A, B siiz C [Option ID = 973]
B, C and D only/a@qet B, C 3iiz D [Option ID = 974]
C, D and E only/a>aer C, D siiz E [Option ID = 975]
A, D and E only/d@aet A, D siiz E [Option ID = 976]

AN W N =

Correct Answer :-
e A, Band C only/aacr A, B aiiz C [Option ID = 973]

40) Match List | with List Il

List | List Il
Schools of Philosophy Propounders
IA. Samkhya I. Gautam
B. Nyaya Il. Kanada
C. Vaisheshika Ill. Kapila

D. Purvamimansa IV. Jamni

Choose the correct answer from the options given below:

Il -1 B It -1l A Fafera Hifsie ¢

et -| oxet -l
(cefor & @Rk AygrI) (gferarc)
A, Aiz=r |. siicrar
B. oRIRI Il. @vng
C. dorftym 11, ftrer
D. yd aftariam IV. Sifdrcft

ol feu sre el 9 2 W 3= gforu :
[Question ID = 245][Question Description = S2_qSNz_PG_GP26_Q45]
A-1,B-1Il,C-1V,D- Il [Option ID = 977]
I, B-1,C-1V, D - Ill [Option ID = 978]

1.
2. A-

3. A-1ll,B-1,C-1l,D- IV [Option ID = 979]
4. A-1IV,B-1ll,C-II,D -1 [Option ID = 980]

Correct Answer :-
e A-1,B-1lll,C-1V, D - Il [Option ID = 977]

Topic:- GP_29NOV_C

1) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18th century and scientific advances in the 19t" century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,



James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine

ijfep' 1jgach ground breaking discovery, molecular biologists were able to form an even clearer picture 'ﬁepp
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic mapofs@ac sxms cuide
human being.

ofiI fou srerion ) uféu iz sar & @

92 sfeera 4, Sfigel @ Iga &l ARIRI @ fére disll oI P diRIVIe P, didodn 3R &ef 6f 3R & @I 3iiR 3nil ao sgd A ikl @I €6
fereare enfdfe sjell 3 ferd 31 ael 3 Jar & 3R =il @I Uil o2 Ul 3imel a6rRn Sirar w81 & 18 df 1<t 3 anfdbaar arel Je1 @ APRIH A, fSIde
o, SIoIHdSIoRT A8l GRI YA febu Sifol 3117 31 3fo3dsicd Ui¥gIvI 3 UR¥Eol @ LRI Silel I IS Pl s v St ABT

1865 9, sfiar vsel, ud MR¢al AT foTosiol el 8 aul A sNSel Ak UR U6l GBI a W I, Ioslel dslifeld SPIA 3 AI9UM f[Kpar fio
fafdrse fadreerg, srerar cigror, Frar-fordr A sraeit Fafer 3 He1fdd siik yalearr adid A Fermelalya gu s Aredl arced sifder & grapics wr=iot
3k farpr1 @ Bigia @ 1859 @ ywmiorel, 'genferil @ Iga’, # aarn sri fb Avsa &l Hist siiaa & 3 bl YRR RARR Jold? 3ioldifdrdht
forstret @ fere ues arur Fenftra fRpen

Jonfera JgachORi & IerIar), dsnfore! I AT arclt BifdrmIsil & sifdaca siiz Fvden &t s fieanr 20 & St & usel G D RH
3, w1 U= ol areil AfdrErRIl(B,cwers) uR fpu sRI gilell A udr ol o PIHIrDT & ofererRRT # @f¥era MR s A filda a Srilfteer
ATATGRI BU A B YIS Dél ol drel gerd Siifad B off SR siopaifdre Fu A AeiRqgur oo srn 1944 3, siiaare wdldl o St vel © A
forf3fa sropaifdres Ao or ad @ Hu 3 Jadiien 3 url ol ardl Sfta o uar aemn 1953 3 ST dicet ik Gt g of St vol T @ d18Y
pusicrell &I st b RSrids fére Isalol 9 ad ag sildd YR gid b e Jo1-uf¥aderaidt sl & SR Jgasitaldsiiel siiaot 6l aifedbt
&I Id@ifers Fase a¥dlR Follol 3 AWl 3l SRl Sfidel D DIs Bl Silolel @ 1e yga dsifore 3 Aol D RMUD Heldifdrd AGIRIGUI @ Fdclol
@I gfer urgal fepan

What is the meaning of '‘empirical evidence'?

‘oIMasIo™ JATGA’ DI HTRT TRAT & ?

[Question ID = 246][Question Description = S2_qSNz_PG_GP26_Q46]

1. based on observation and capable of being verified/smaciidol @ 3memR w2 3iR JAftd Slol cIRID
[Option ID = 981]

2. based on received knowledge/sfgur febu 3RI SiTel U2 smrenfya
[Option ID = 982]

3. based on knowledge from historical empires/ v feeIRiw APsI & ol W mei¥a

[Option ID = 983]
4. based on mythology and folklore/diaifords e 3z clles aver w2 simenf¥a

[Option ID = 984]

Correct Answer :-
e based on observation and capable of being verified/smaciiaer @ 3menR w2 32 AN Blot cIRID
[Option ID = 981]

2) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18t century and scientific advances in the 19: century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species’. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.
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ofia feu srenior ol ufeu siik SR e @

g3 sfeerRI 3, Siidel @ 3gd &l IRRIRIL @ fé1u sl BT Fd™ UIRIUIG oI, didbd iR epf &I 3R 3 261 iz 3pil a® Jgd A dell @I &6
forart enfifes sjeil 3 fora s1e ael 3 a1 3 iz 32t @ il &2 Higl 3me! aern simar w61 8 18 &f A6t 3 arfdderar arer Jor & eEIeT A, Riden
o, SIgIIdSIoRI A8l GRT YA fopU Sirol 311 33 Sfofsiasic Uf¥sivl 3 U0l @ GIRI Siel Y Il Bl Adqse s sir Adbt

1865 3, sffar Avse, vdb 3MR¢zrol e firosiol firect 8 aul A sNSel Hc? UR 3Tl YRIIST B2 1B A, Ioslol dsiIiord SPIA d HIyvn s fop
fafdrse fadrererg, srerar crgror, HrAr-forar A sraeil FHafer 3 He1fda siik yaleErr adid A Ferenalia gu s Aredl arced sifder & grapicres w@w=is
3k farprt @ RBigia @ 1859 @ ymigrel, 'genferil & Iga’, # aarn sri b Avsa &l Hist Sfiaar & 3 Dl YRR RIRR Jold2 3foldifdrdht
forstret @ fore ves arur Fenfta fRpen

Jonfera Jgachfl & FerMaRI, dsform! & @RI arcd BIfdremisil & sif¥daa iz Ao & Fist feenr 20 & A8t & usdt SrD D IRH
3, wel UR 3ol arell AfdzrIl(E, cwenr) u? fopu sRI glell A udr @l & @lfdremr @ oyfarera 3 sraf¥era qlaardier sfia A fofdfa a grfber
ATHATGRI BU A B, CUellS Dal Sl dleil Yerd Siifad S off SrRim siopaifdre Fu A ARG v srn 1944 3, siiadre wdidl of St wel € A
forfdfa sroraifdre Asor ared @ Bu # Jadifrar 3 Ul siol arct st ot uar cemrn 1953 3 ST dicot Sk GiRRRa fige of St ver © @ d1e
pusierdl &I e o Brid fore Isdiol 9 ad a6 silde Yzer g fin gy Je1-uf¥aderadl Hisl & SRl gdsialdsiel Siiaetr &l aifedbt
&l Id@ifers Fase a¥dlR Foilol 3 AWl 3l SRl Sfidel @ ®Is Bl Silelel @ e ygza d=ifore 3 A d RMUD Heldifdrd AGIRIGUI @ Fdelol
@I Yfer urgal fopan

According to the author, what were the initial sources of information for understanding the beginning of life?

RA® D GRIR, Siidol Bl s3I DI WISl D 18 SIerpRl @ YrRBe Ja = g ?

[Question ID = 247][Question Description = S2_qSNz_PG_GP26_Q47]
1. Scientific discoveries/d=mfera st
[Option ID = 985]
2. Folk knowledge and scriptures/elia bt sirel 3ii2 epfsjer
[Option ID = 986]
3. Imaginative literature/wcufors fder

[Option ID = 987]
4. Discoveries of Mendel and Darwin/dwset aiiz sifdfor b1 2ot

[Option ID = 988]

Correct Answer :-
e Scientific discoveries/dsnford et
[Option ID = 985]

3) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18t century and scientific advances in the 19: century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ofia feu srerier ol ufeu sii saz dfse ©

R sferera 3, Shiaa & 3ga 6l ARIRI o fére el @1 goa diRIfie de, didoden 3R eef & 3R & 361 3l it ae aga A el &I &6
ferearar enfifes sjell 3 ferd s1u ael 3 a1 3 3R =il @I Uil o2 Ul 31mel aGrn Sirar w61 & 18 df 1<t 3 anfdbaar arel Je1 @ APRE A, Ide



ofl, sroIMasIod A1l HRI YRR fepu Sirel 31 337 siopsasio Uufesvr 3 UR¥ol @ GRI Slel bl DS DI Adsce fpr ST AT
WMRY SPERPRY v snficeror smer Brosar frsar 8 avit 3t smor arcx Uz arat geiter @z 2 4, mmmﬁm&ggepp

fafdre RASISATE, arerar &MY, AIA-Ric A arorel Tk X Toda s yatapa afid A Teretiafed gu D M arct Sifdfer B QDIRID TRl
3R famrt @ Rigia @ 1859 o ywiorel, "geiferRll @ 3gd’, 3 ddr sri fib Avsct bl FIst Sitael @ Iga bl YIoAIT RIRSAT Soib? ofdifdrdbt

fasiel @ fore uwas awur Fenfta fasen

Fonfera JPgachOfi & Ferar), dsnforot 3 Qe arclt BifdrmIsil & sifidaca siiz Fizdcn &t st e 20 & At @ uscl G9rB @ M8
3, wel UR sl arcll ARl (|, cwerr?) ur fpu SR eIl A udl acl b Plfdret @& Ifererra 3 saf¥ea qreirRiet sfia A foifdfa  SRifsen
AHIGA U A B U D Silol arcil e Sfifera fBra off RBrerenr siopaifdre su A wArcifrgur o srn 1944 3, siizrarer gdidl of St gel § A
forfdfer sropaifdre o< or arse @ Hu I Jadifear 3 urt sior arel sita o1 uar ePmrn 1953 31 ST diceter ik GIRRT g of 3t vol T @ A6
pusierdl &t e i Rrid fére Ssaiar 9 ad arg slidd YzeoR g b e Jo1-ul¥adersl sl & SRl Jgasialisiel sfiaer 6t aifedbt
&l AdopIfcis Fute dRIR Follol 3 AWel 3l Rl  Sildol @ IS P Silelol @ f1¢ YA dSIford 3 Al @ RIMUD 3odifdrd ATGIRIGUT @ IHdclol
@1 yfel urcd fdp=m

What is the theme of this passage?
$3 SNl I HeI-faery o= 8 ?

[Question ID = 248][Question Description = S2_qSNz_PG_GP26_Q48]
1. Origin and mechanics of life/3ga 3iiz Sfiaar & =ifebt

[Option ID = 989]

2. Scientific knowledge from ancient times/yrcfior 2wrr @ dsmford siror
[Option ID = 990]

3. Structure of cell/mifSmr 6t AHdon

[Option ID = 991]
4. Belief versus science/smzen gord fersirer

[Option ID = 992]

Correct Answer :-
e Origin and mechanics of life/3ga 3iiz Sftaer i =ifebt
[Option ID = 989]

4) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18t century and scientific advances in the 19« century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

offd feu srerior @I ufeu siiz 3az S

W sferera 3, Shlae @ 3gda &l ARKIRI o e el @1 gora diRIfiie dal, diddan 3R el &l iR & 61 3k il ae dga A el oI &6
farara enfifes sjel 9 ford s1e aesl 3 va1 3 3l 3=t 1 didt 52 Uil 3imel agrRn sirer 261 8 18 df 1<) 3 anfésasar arer Jo1 oS PR A, Raen
ofl, sropMasIcd ATl GRI GRIRT fepu Sirel 31 330 siopsdsio UfesIvr A UR¥ol D GRI el bl TPigln P Adse [ ST AT

1865 d, sar Avse, vas nf¥¢ral AreY Ricslol firecr 8 auf A snSel ez UR 3IUGt PRI B2 3 &, Joalol dsHfold SIPI 3 Hrvv s 5
fafdrse fadraerd, srerar ergror, ArAI-fordr ¥ el Hafer 3 JHs1fda sl yafaarr adid I recnaflia gu s e arced sifder & graferes w@w=ra
3R foprT @ Rigia @ 1859 @ ywiormel, 'genferil @ Iga’, # aari sri fib Avsa &l HIst sfiaer @ I bl YIRIa RARR Jold? 3foldifordht
frsiet @ fere vep arur Tenfia R

Jonifera JgacORl &b Jerar], dsnform] i DIARIRT arcll BIHIGII @ 3i¥dra 3R Jden &I ¥ fibenr 20 df AST B UsK GIRD D R
3, Bel Uz ol drcil ARRRII(E_ cwerrs) UR fpu sRI yAlell A udr dcil & DIfdrnT & sgfderi # smafea queRiet s A fordfa & gRilfteen



AHIGA U A B Ul D Silol arcil gerar Sfiferd fSra off ST sropaifdrm su 3 aArcifrger foan srn 1944 3, siizrare gdidl of St gel @ A
WPV T Ry 6w B Fu 3 ATAfe 3 TR S A sffer o1 e e 1953 3 S < sl il Ry o 6 v PSP P
& 2ot R Bred> R1e sodior 9 adf a6 oildd yesor g foar  yeid gor-ulkaderomdt st & Hr1 Jgasiafisiol sfiaord-aifbl
&l AdpIicis Fuse a¥diR dollol 3 AWl 8l SRl  Sildol @ DIS DI Silelol B {18 Yga dsiiferd 3 HAleld @ RIMUD 3IoldifdId HATGIRIGUI O Advclol
@I gfer urgal fepam

Whose scientific contributions inaugurated the science of genetics?

fop1a> dsfor ARGl of refaifdrdl frsiel oI MRy o ?

[Question ID = 249][Question Description = S2_qSNz_PG_GP26_Q49]
1. Charles Darwin/aresf sifdfer

[Option ID = 993]
2. Gregor Mendel/3pprz duser
[Option ID = 994]
3. Gregor Mendel and Charles Darwin/3pprR dwset 3iiz darcf sifdor

[Option ID = 995]
4. James Watson and Francis Crick/Sw1 areol iz w3 fipa

[Option ID = 996]

Correct Answer :-
e Charles Darwin/arc3f sifdfer
[Option ID = 993]

5) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18t century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.
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What helped molecular biologists to form a clearer picture of the mechanisms of life?

Sitael @ ifefbl Bl ruse ardlz Joilol 3 JgA Shafasnforil @I PRl FsrMI yrd 88 ?

[Question ID = 250][Question Description = S2_qSNz_PG_GP26_Q50]
1. Knowledge from myths/frerat 3 yra sror

[Option ID = 997]
2. Incentives like Nobel Prize/slider geedR SR g

[Option ID = 998]
3. Evidence based discoveries/3mgzr amenfsa st

[Option ID = 999]
4. Technical limitations/amforbt 2fieme

[Option ID = 1000]
Correct Answer :-
e Knowledge from myths/ferpl 3 yra sirer

[Option ID = 997]





